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1. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP 

(a) 6 sides polygon 1. Heptagon 
 6 £UP £»÷Põn®  öí¨hPß 
(b) 7 sides polygon 2. Nonagon 
 7 £UP £»÷Põn®  |õÚPõß 
(c) 8 sides polygon 3. Hexagon 
 8 £UP £»÷Põn®  AÖ[÷Põn® 
(d) 9 sides polygon 4. Octagon 
 9 £UP £»÷Põn®  Gs÷Põn® 

 (a) (b) (c) (d) 
(A) 2 4 1 3     
(B) 4 2 3 1     
(C) 3 1 4 2    
(D) 1 3 2 4    
(E) Answer not known 
  Âøh öu�¯ÂÀø» 

2. Tetrahedron ����������� equal faces, each an equilateral triangle.
öhmμõöímμõß�ÝUS ���������� \©©õÚ �P[PÐ®, \©©õÚ 
�U÷Põn�® öPõshx. 

(A) 3 (B) 5 

(C) 4 (D) 6 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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3. ����������� sides are in Nonagon. 
÷|õ÷ÚPß ���������� £UP[PÒ öPõshx. 

(A) 10 (B) 12 

(C) 11 (D) 9 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

4. The internal angle of an octagon is 
Gs÷Põnzvß EÒ÷Põn AÍÄ 

(A) 140° (B) 135° 

(C) 160° (D) 120° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

5. How many pairs of parallel lines are there in regular Hexagon? 
JÊ[S AÖ[÷PõnzvÀ GzuøÚ ÷áõi Cøn ÷PõkPÒ EÒÍÚ? 

(A) 2 (B) 3 

(C) 6 (D) 1 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

6. The another name of Rhomboid is 
\õ´\xμzvß (Rhomboid) ÷ÁÖ ö£¯º  

(A) Rectangle  (B) Rhombus 

 ö\ÆÁP®  \õ´\xμ® 

(C) Parallelogram (D) Trapezium  
 CønPμ®  \�ÁP® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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7. ����������� is called Trapezium. 
\�ÁP® GÚ¨£kÁx ����������. 

(A) any two sides equals 
 H÷uÝ® Cμsk £UP[PÒ \©©õP C¸US®   

(B) opposite sides are equal  
 Gvºöμvº £UP[PÒ \©©õÚx 

(C) opposite angles are equal   
 Gvºöμvº ÷Põn[PÒ \©©õÚx   

(D) sides are parallel  
 £UP[PÒ Cøn¯õÚx 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

8. The sum of interior angles in quadrilaterals 
|õØPμ[PÎß EÒ÷Põn[PÎß TmköuõøP 

(A) 180° (B) 270° 

(C) 360° (D) 90° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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9. The sum of exterior angles of a  polygon is equal to 
£» ÷Põnzvß öÁÎ¨¦Ó ÷Põn[PÎß TmkzöuõøP 

(A) 270° (B) 180° 

(C) 360° (D) 90° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

10. ����������� scalene triangle. 
���������� A\©£UP �U÷Põn®. 

(A) All sides of a scalene triangle is unequal  

 AøÚzx £UP[PÐ® \©©ØÓøÁ   

(B) All sides are equal  
 AøÚzx £UP[PÐ® \©® 

(C) All angles are equal  
 AøÚzx ÷Põn[PÐ® \©®   

(D) Has line of symmetry   
 \©a^º ÷Põk {øÓ¢ux 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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11. The sum of interior angle of any type of triangle is 
G¢u ÁøP¯õÚ �U÷Põnzvß EÒ÷Põnzvß TmkzöuõøP 

(A) 90° (B) 120° 

(C) 180° (D) 360° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

12. The distance from the centre to any point on the circle is 
ø©¯ ¦ÒÎ°¼¸¢x Ámhzvß G¢u ¦ÒÎUS® Cøh÷¯ EÒÍ yμzvØS 
���������� GßÖ ö£¯º. 

(A) Diameter (B) Radius  
 Âmh®  Bμ® 

(C) Chord (D) Sector 
 |õs  ÁmhU ÷Põn £Sv 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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13. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP : 

(a) Complementary angle  1. These are the angles lying on 
either side of a line  

 {μ¨¦ ÷Põn[PÒ    CøÁ J¸ ÷Põmiß C¸¦Ó�® 
C¸US® ÷Põn[PÒ 

(b) Supplementary angle  2. The angle which is more than 180°
 xøn ÷Põn[PÒ 180° US ÷©À C¸US® ÷Põn[PÒ

(c) Reflex angle   3. When the sum of the two adjacent 
angles is equal to 180° 

 �L¨öÍUì ÷Põn[PÒ   Cμsk ÷Põn[PÎß TmkzöuõøP 

180° BP C¸US®÷£õx 

(d) Adjacent angle    4. When the sum of the two angles is 
equal to 90° 

 Akzukzu ÷Põn[PÒ   Cμsk Akzukzu ÷Põn[PÎß 

TmkzöuõøP 90°BP C¸US® 

 (a) (b) (c) (d) 
(A) 2 1 3 4     
(B) 1 2 4 3      
(C) 3 4 1 2    
(D) 4 3 2 1   
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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14. Lines are perpendicular to horizontal lines are called as 
Qøh©mh ÷PõmiØS ö\[SzuõP Aø©²® ÷Põk __________ GÚ 
AøÇUP¨£k® 

(A) Parallel line (B) Inclined line 

 Cøn ÷Põk  \õ´÷Põk 

(C) Curved line (D) Vertical line 
 ÁøÍ¢u ÷Põk  ö\[Szx ÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

15. Continuous thin line are used to 
öuõhºa]¯õÚ ö©À¼¯ ÷PõkPÒ __________ £¯ß£kzu¨£kQÓx 

(A) Hidden out lines (B) Cutting planes 

 Cmhß öÁÎ ÷PõkPÒ  Pmi[ ¤÷Íßì 

(C) Centre lines (D) Dimension lines 
 ø©¯U ÷Põk  AÍÄ SÔ±mk ÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

16. The sum of the two adjacent angle is equal to 180º are called 
Cμsk AkzxÒÍ ÷Põn[PÎß TkuÀ 180º GÛÀ AU÷Põn® 

(A) Supplementary angle (B) Obtuse angle 

 ªøP {μ¨¦U ÷Põn® Â� ÷Põn®

(C) Straight angle (D) Complementary angle 
 ÷|ºU ÷Põn®  {μ¨¦U ÷Põn® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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17. In engineering drawing visible outlines the type of line used is 
ö£õÔ°¯À Áøμ£hzvÀ öu�²®£i¯õÚ ö£õ¸Îß öÁÎ÷PõmiØS 
£¯ß£k® ÷Põk 

(A) Continuous thick (B) Continuous thin 

 öuõhº uizu ÷Põk  öuõhº ö©À¼¯ ÷Põk 

(C) Continuous line (D) Continuous freehand 
 öuõhº ÷Põk  \õuõμn öuõhº ÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

18. Angles are identified by their magnitude ����������� is a reflex 
angle. 
÷Põn[PÒ, AøÁPÎß AÍÂß Ai¨£øh°À PshÔ¯¨£kQßÓÚ. Gx 
¤ßÁøÍÄ ÷Põn©õS®? 

(A) 
 

(B) 
 

 

 (C)  (D)  

  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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19. Interior Angles of Quadrilateral equal to  
|õØPμzvß EÒ ÷Põn[PÎß TmkzöuõøP ����������� US \©® 

(A) 90º (B) 180º  

(C) 270º (D) 360º 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

20. All four sides are equal but not at right angle name is 
GÀ»õ £UP[PÐ® \©©õP C¸US® BÚõÀ RÌUPsh __________ÁiÁ® 
ö\[÷Põn©õP C¸UPõx

(A) Rhombus (B) Trapezoid 

 \õ´ \xμ®  \�ÁP® 

(C) Rectangle (D) Rhomboid 
 ö\ÆÁP®  PÚ ö\ÆÁP® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

21. Exact position of title block on drawing sheet is 
Áøμ£h uõÎÀ øhmiÀ ¤ÍõU \�¯õP C¸US® Ch® 

(A) Left side bottom corner (B) Right side upper corner
 Chx £UP RÌ �ø»  Á»x £UP ÷©À �ø» 

(C) Right side bottom corner (D) Left side upper corner 
 Á»x £UP RÌ �ø»  Chx £UP ÷©À �ø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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22. The width to length ratio of drawing sheet is 
Áøμ£hz uõÎß AP»zvØS® }ÍzvØS® EÒÍ ÂQu® 

(A) 1 : 2 (B) 1 : 2  

(C) 2 : 1 (D) 2  : 1 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

23. Match the following  : 
RÌUPshÁØøÓ ö£õ¸zxP 

 Sheet Designation  Trimmed Size (mm) 
 PõQu AÍÄ   AÍÄ Pzu�¨¦ ö\´¯¨£mhx (mm) 

(a) A0 1. 841 ×  1189 
(b) A1 2. 420 ×  594 
(c) A2  3. 297 ×  420 
(d) A3  4. 594 ×  841 

  (a) (b) (c) (d) 
(A) 1 2 3 4 
(B) 2 1 4 3 
(C) 1 4 2 3 
(D) 4 3 1 2 
(E) Answer not known 
        Âøh öu�¯ÂÀø» 

24. Thickness of border line in drawing sheet? 
Áøμ£hzuõÎÀ Áøμ¯¨£k® £õºh�ß ui©ß GÆÁÍÄ? 

(A) 0.60 mm (B) 0.70 mm 

(C) 0.80 mm (D) 1.00 mm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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25. The untrimmed size of A2 drawing sheet is __________mm. 
A2 Áøμ£h uõÎß i�® ö\´¯¨£hõu AÍÄ __________ª« BS® 

(A) 240 × 330 (B) 330 ×  450 

(C) 450 ×  625 (D) 625 ×  880 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

26. The Bureau of Indian Standards (B.I.S.) that specifies the sizes and
layout of drawing sheets 
Áøμ£h uõmPÎß AÍÄPÒ ©ØÖ® uÍÁø©¨ø£ SÔ¨¤mkÒÍ C¢v¯ 

uμ{ø» Pmk¨£õk £o¯P® (B.I.S.). 

(A) IS : 11664 � 1986 (B) IS : 11664 � 1983 

(C) IS : 10711 � 1983 (D) IS : 10711 � 1986 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

27. Small Bow Compass can draw circles less than ����������� mm 
radius. 
]Ô¯ ÂÀ Põ®£ì �����������  ª« BμzvØS SøÓÁõP Ámh[PøÍ 
Áøμ¯ �i²®. 

(A) 15 (B) 20 

(C) 25 (D) 30 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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28. Circles of more than 150 mm radius are drawn with the Aid of  
150 ª« BμzvØS ÷©À EÒÍ Ámh[PÒ ����������� EuÂ²hß 
Áøμ¯¨£kQßÓÚ. 

(A) Large-size Compass with interchangeable Pencil and Pen Legs
 ©õØÓUTi¯ ö£ß]À ©ØÖ® ÷£Úõ PõÀPÒ öPõsh ö£�¯ 

AÍÂ»õÚ Põ®£ì 

(B) Lengthening Bar
 }Í©õÚ £møh   

(C) Large size Divider  
 ö£�¯ AÍÂ»õÚ ¤�¨£õß 

(D) Small Bow Compass 
 ]Ô¯ ÂÀ Põ®£ì   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

29. It is made of Lead Bar enclosed in Rubber and can be bent into any 
shape to form a Curve 
Cx μ¨£μõÀ �h¨£mh D¯¨£møh¯õÀ BÚx ©ØÖ® ÁøÍøÁ E¸ÁõUP 
G¢u ÁiÁzv¾® ÁøÍUP»õ®. 

(A) Flexible curve (B) Stencil 

 L¨öÍUê£À ÁøÍÄ  ìöhßêÀ 

(C) French curve (D) Template 
 ¤öμg_ ÁøÍÄ  öh®¨¤÷Ím 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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30. The angle between the Stock/head and blade in �T� � Square. 
�T� � ìöPõ¯�À uø»£SvUS® ¤÷ÍkUS® Cøh÷¯ EÒÍ ÷Põn®. 

(A) 60º (B) 30º 

(C) 90º (D) 45º 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

31. The drawing board size of B3 indicate as per BIS 
C¢v¯ uμ {ºn¯zvß£i B3 Áøμ£h £»øP°ß AÍÄ 

(A) 1500 ×  1000 ×  25 (B) 1000 ×  700 ×  25 

(C) 700 ×  500 ×  15 (D) 500 ×  350 ×  15 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

32. French curves are importantly used to draw 
¤öμg_ ÁøÍÄPÒ �UQ¯©õP ����������� Áøμ¯ £¯ß£kQßÓx. 

(A) Long lines (B) Triangles 

 }Í ÷PõkPÒ  �U÷Põn[PÒ 

(C) Curves (D) Circles 
 ÁøÍÄPÒ  Ámh[PÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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33. Pencil Grade 2H is used for 
2H ö£ß]À RÌUPshÁØÔØS £¯ß£kQÓx. 

(A) Guidelines for Lettering  
 GÊzxUPÒ ©ØÖ® C»UP[PøÍ GÊxÁuØS SÔ¨¦ ÷Põk Áøμ¯ 

(B) For Construction Lines, Dimension Lines, Section Lines and 
Centre Lines 

 Pmk©õÚU÷Põk, AÍÄ÷PõkPÒ, SÔ¨¦U ÷PõkPÒ, ø©¯U÷PõkPÒ 

(C) For Object Lines, Lettering and Dimensioning   
 ö£õ¸Ò÷PõkPÒ, GÊzxUPÒ, C»UP[PÒ 

(D) For free Handwriting, Arrow Heads, Dimensioning and 
Lettering 

 _u¢vμ©õP GÊu, A®¦USÔPÒ, AÍÄ÷PõkPÒ, GÊzxUPøÍ GÊu 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

34. The Designation of Drawing Board size is 500 ×  350 ×  15 mm, used 
Drawing Sheet size is 

500 ×  350 ×  15 ª« AÍÄÒÍ Áøμ£h £»øP°À, £¯ß£kzu¨£k® 
Áøμ£h uõÎß AÍÄ 

(A) A4 (B) A2 

(C) A3 (D) A1 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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35. The dimension of A1 Trimmed size drawing sheet 
A1 i�®k AÍÄ Áøμ£h uõÎß £�©õn® 

(A) 841 mm ×  1189 mm (B) 594 mm ×  841 mm 

 841 ª« ×  1189 ª«   594 ª« ×  841 ª« 

(C) 1230 mm ×  880 mm (D) 880 mm ×  625 mm 

 1230 ª« ×  880 ª«  880 ª« ×  625 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

36. Instrument used for enlarging or reducing the map or drawing 
÷©¨ AÀ»x Áøμ£hzøu ö£�uõUP AÀ»x SøÓUP £¯ß£kzu¨£k® 
P¸Â 

(A) Drawing Instruments (B) Pentagraph 

 Áøμ£h P¸ÂPÒ  ö£ßhõQμõ¨ 

(C) Planimeter (D) Clinograph 
 ¤ÍõÛ«mhº  QÎ÷ÚõQμõ¨ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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37. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP : 
(a) T-square 1. For measuring or setting off angles 
 i&ìöPõ¯º  ÷Põn[PøÍ AÍÂh AÀ»x Aø©UP 
(b) Compass 2. To draw horizontal line 
 Põ®£ì  Qøh©mh ÷Põmøh Áøμ¯ 
(c) Protractors 3. For drawing curves by joining various 

point 
 ¨÷μõmμõUhºì  £À÷ÁÖ ¦ÒÎPøÍ Cønzx ÁøÍÄPøÍ 

ÁøμÁuØS 
(d) French curves 4. For drawing circles and arcs 
 ¤öμg_ ÁøÍÄ  Ámh[PÒ ©ØÖ® Ámh ÁøÍÄPÒ 

ÁøμÁuØS 

 (a) (b) (c) (d) 
(A) 4 3 2 1    
(B) 1 4 3 2     
(C) 2 4 1 3    
(D) 3 2 4 1    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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38. Select the correct angle of below set square 
R÷Ç EÒÍ ö\m&ìöPõ¯º&ß \�¯õÚ ÷Põn[PøÍ ÷uº¢öuk 

 

(A) 45°, 90°, 30° (B) 90°, 60°, 45° 

(C) 30°, 60°, 90° (D) 90°, 45°, 30° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

39. The protractor used for  
£õøP©õÛ¯õÚx ������������ US £¯ß£kzu¨£kQÓx. 

(A) Vertical line (B) Horizontal line 

 ö\[Szx ÷Põk  Qøh©mh ÷Põk 

(C) Inclined line (D) Angle measurement 
 \õ´Ä ÷Põk  ÷Põn[PÒ AÍ¨£uØS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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40. How the uni-directional system dimensions are placed in
engineering drawing to read? 
²ÛøhμUåÚÀ JÊ[S �øÓ°À AÍÄPÎß £�©õn[PÒ Áøμ£h 
uõÎÀ G¨£i £iUS®£i EÒÍx? 

(A) From top of the drawing  
 Áøμ£hzvß ÷©Ø£Sv°À £iUS® £i 

(B) From left side to right 

 Áøμ£hzvß Chx £UPzv¼¸¢x Á»x ¦Ó® Áøμ 

(C) From right side to left  
 Áøμ£hzuõÎß Á»ª¸¢x Ch£UP® Áøμ 

(D) From the bottom of drawing 
 Áøμ£hzuõÎß Ai£UPzv¼¸¢x £iUS®£i Aø©UP¨£kQÓx 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

41. The art of representation of object having two dimensions 
C¸ £�©õn[PøÍU öPõsh ö£õ¸Îß ¤μv{vzxÁ Pø» 

(A) Solid geometrical drawing (B) Plane geometrical drawing 

 vh ÁiÂ¯À Áøμ£h®  \©uÍ ÁiÂ¯À Áøμ£h® 

(C) Orthographic drawing (D) Drawing 
 Bº÷uõQμõL¤U Áøμ£h®  Áøμ£h®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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42. Two point problem and three point problem is solved using
������������ method. 
Cμsk ¦ÒÎ �øÓ ©ØÖ® �ßÖ ¦ÒÎ �øÓ ������������ �øÓ°À 
wºUP¨£kQßÓx. 

(A) Intersection (B) Resection 

 Cßhºö\Uåß �øÓ  �ö\Uåß �øÓ 

(C) Radiation (D) Traverse 
 ÷μi÷¯\ß �øÓ   öuõhº �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

43. Which of the following is correctly paired? 
RÌPshÁØÖÒ GøÁ \�¯õP ö£õ¸zu¨£mkÒÍx? 
(1) Radiation �  No need to orient the table 
 ÷μi÷¯åß   £»øPø¯ K�¯ßm ö\´¯ ÷uøÁ°Àø» 
(2) Intersection �  Does not require chain or tape for base

line 
 Cßhºö\Uåß   ÷£ì ÷Põmøh AÍUP ö\°ß AÀ»x ÷h¨ 

÷uøÁ°Àø»  
(3) Traversing �  Require chaining 
 iμõöÁºê[   ö\°Û[ ÷uøÁ¨£kQÓx 
(4) Traversing �  No need to orient the table 
 iμõöÁºê[  £»øPø¯ K�¯ßm ö\´¯ ÷uøÁ°Àø» 

(A) (1) and (3) are correct (B) (1) and (2) are correct 

 (1) ©ØÖ® (3) \�¯õÚøÁ  (1) ©ØÖ® (2) \�¯õÚøÁ 

(C) (2) and (3) are correct (D) (3) and (4) are correct 
 (2) ©ØÖ® (3) \�¯õÚøÁ  (3) ©ØÖ® (4) \�¯õÚøÁ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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44. Match List I with List II correctly and select your answer 

£mi¯À I I £mi¯À II Ehß ö£õ¸zv \�¯õÚ Âøhø¯z ÷uº¢öuk 

 List I  List II 
 £mi¯À I  £mi¯À II 

(a) Orientation 1. Spirit level 
 K�¯ß÷håß  ì¤�m ö»ÁÀ 
(b) Centering 2. Trough compass 
 ö\ßh�[  iμ¨ Põ®£ì 
(c) Levelling 3. To fix exactly over station 
 ö»Á¼[  ì÷h\ÝUS ÷©À \�¯õP ö£õ¸zxÁx 
(d) Bearing 4. Positioning correctly 
 ÷£�[  \�¯õÚ ö£õ]åß öPõsk Á¸Áx 

 (a) (b) (c) (d) 
(A) 4 3 1 2    
(B) 2 1 3 4     
(C) 1 2 3 4    
(D) 3 4 2 1    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

45. ������������ method of plane tabling is suitable for locating
inaccessible point. 
AqP �i¯õu ¦ÒÎø¯U PshÔÁuØS ¨÷Íß ÷h¤Î[ �øÓ°À 
������������ Gß£x ö£õ¸zu©õÚx.

(A) Radiation (B) Intersection 

 ÷μi÷¯åß  Cßhºö\Uåß 

(C) Traversing (D) Resection 
 iμõÁº][  �ö\Uåß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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46. Match the following  : 
RÌPshÁØøÓ ö£õ¸zxP : 
(a) Trough compass 1. Graduated 
 iμL¨ Põ®£ì  xÀ¼¯©õP 
(b) Plane table 2. North line 
 ¤÷Íß ÷h¤Ò  Áhvø\ 
(c) Alidade 3. Transferring the station point 
 A¼÷hm  ì÷håß ¦ÒÎø¯ ©õØÖQÓx 
(d) Fork 4. Well seasoned wood 
 L¨÷£õºU  |ßS £u¨£kzu¨£mh ©μ® 

 (a) (b) (c) (d) 
(A) 4 1 3 2    
(B) 2 4 1 3     
(C) 3 4 2 1    
(D) 1 3 4 2    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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47. Choose the right answer 
\�¯õÚ Âøhø¯ ÷uº¢öuk 

I. Plane table surveying field work is recorded afterwards doing 
plotting work 
\©uÍ£»øP \º÷Á°[ ÷Áø» �i¢u¤ÓS ¤Íõmi[ ö\´x 
öPõÒÍ»õ® 

II. Plane table surveying field work and plotting work not 
important 

 \©uÍ£»øP ÷Áø»US ¤Íõmi[ ÷Áø» ÷uøÁ°Àø»   

III. Plane table surveying field work is recorded in a field book 
plotted at the same time 

 \©uÍ£»øP \º÷Á°[ ö\´²® ö£õÊ÷u ¤Íõmi[ ÷Áø»ø¯²® 
J÷μ ÷|μzvÀ ö\´¯¨£kQÓx   

IV. Plane table survey plotting work in office room 
 \©uÍ£»øP \º÷Á GkzxÂmk A¾Á»P AøÓUS Á¢x ¤Íõmi[ 

ö\´¯÷Ásk® 

(A) IV (B) I 

(C) III (D) II 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

48. The another name of trial and error method ������������ in plane 
table survey. 
\©uÍ£»øP \º÷Á°À iøμ¯À ©ØÖ® Gμº �øÓ°ß ©ØöÓõ¸ ö£¯º  

(A) Two point method (B) Square method 

 Cμsk ¦ÒÎ �øÓ  \xμ ¦ÒÎ �øÓ 

(C) Triangle of error method (D) Rectangle method 
 �U÷Põn ¤øÇ �øÓ  ö\ÆÁP ¦ÒÎ �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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49. Name of method in which tracing paper is used over the drawing
sheet to solve the problems. 
Áøμ£h uõÎß ÷©À i÷μ][÷£¨£º øÁzx wºÄ Põn EuÄ® �øÓ 

(A) Traversing method (B) Trial and error method 

 öuõhºa]¯õÚ �øÓ iøμ¯À ©ØÖ® Gμº �øÓ

(C) Three point method (D) Bessel�s method 
 �ßÖ ¦ÒÎ �øÓ  ö£\Àì �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

50. Accurate centring in plane table survey is necessary for 
������������ Eøh¯ \©uÍ £»øP \º÷Á°[ØS ªP xÀ¼¯©õÚ ö\ßh�[ 
÷uøÁ. 

(A) Small scale maps (B) Large scale maps 

 ªP]Ô¯ £μ¨£ÍÄ  ö£�¯ £μ¨£ÍÄ

(C) Filling in details (D) Solve triangle error 
 Âk£mhøÁPøÍ Põn»õ®  �U÷Põn ¤øÇPøÍ Põn»õ®

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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51. Which of the following statements are true about plane table
Survey? 
RÌPsh ÁõUQ¯[PÎÀ G¢u ÁõUQ¯[PÒ ¤øÍß÷h¤Ò \º÷ÁUS 
Esø©¯õÚøÁ? 
(i) Orientation is done by Back sighting 
 ÷£U ø\mi[ �øÓ°À K�¯ß÷håß ö\´¯¨£kQÓx 
(ii) Orientation is done by trough compass 
 iμL¨ Põ®£ì �»® K�¯ß÷håß ö\´¯¨£kQÓx 
(iii) Centering is done by spirit level 
 ì¤�m ö»ÁÀ öPõsk ö\ßh�[ ö\´¯¨£kQÓx  

(A) (iii) only (B) (i) and (iii) only 

 (iii) ©mk®  (i) ©ØÖ® (iii) ©mk® 

(C) (ii) and (iii) only (D) (i) and (ii) only 
 (ii) ©ØÖ® (iii) ©mk®  (i) ©ØÖ® (ii) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

52. _________ Survey is employed when great accuracy is not able such as
Topographical Surveys. 
_________ \º÷Á ÷hõ¨÷£õQμõ¨¤PÀ \º÷Á ÷£õÀ £o°À ªP xÀ¼¯©õP 
AÍÄPÒ GkUP C¯»õx. 

(A) Compass (B) Chain 

 Põ®£ì  ö\°ß 

(C) Plane Table (D) Dumpy level 
 ¤÷Íß ÷h¤Î[  h®¤ ö»Á¼[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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53. How many stations are required in intersection method? 
Cßhºö\Uåß �øÓUS GzuøÚ ì÷h\ßPÒ ÷uøÁ? 

(A) 1 (B) 2 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

54. ��������� is the most suitable method of plane table surveying in
Hilly Country. 
©ø»¨ £SvPÎß, uÍ AÍUøP £»øP �øÓ AÍøÁ°À ªP EP¢u �øÓ 

(A) Radiation Method (B) Intersection Method 

 ÷μi÷¯\ß �øÓ  Cßhºö\U\ß �øÓ 

(C) Traversing Method (D) Resection Method 
 mμõÁºê[�øÓ  �ö\U\ß �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

55. Working edge of an Alidade is known as  
A¼÷hmiß öÁõºUQ[ Gmä _________ GÚ AøÇUP¨£kQÓx. 

(A) Ebonite edge (B) Fiducial edge 

 G÷£õøÚm Gmä  ¤k]¯À Gmä 

(C) Straight edge (D) Graduated edge 
 ìöμ´m Gmä  Qμõáú÷Áhm Gmä 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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56. Normally trough compass is used for 
ö£õxÁõP÷Á iμL¨Põ®£ì (vø\ Põmi) ����������US £¯ß£kQÓx  

(A) Levelling the instrument (B) Marking centre line 

 ©mh® \�£õºUP  ø©¯¨¦ÒÎ ©õºUQ[ ö\´¯ 

(C) Sighting Device (D) Marking North Directions 
 ö£õ¸øÍ £õºUS® P¸Â¯õP  ÁhUS vø\ø¯ SÔUP 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

57. ��������� is a straight edge with some form of sighting device
using plane table survey. 
_________ ÷|μõÚ ÂÎ®¦ öPõsh £õºUS® P¸Â £¯ß£k® ¤÷Íß 
÷h¤Î[ \º÷Á. 

(A) Tripod (B) Tape 

 møμ£õk  ÷h¨ 

(C) Alidade (D) Prism 
 A¼÷hk  ¤�\® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

58. ��������� is quick and accurate method in plane table surveying. 
¤÷Íß ÷h¤Ò \º÷Á°À ÷ÁP©õP ©ØÖ® xÀ¼¯©õP Psk¤iUS® �øÓ 

(A) Mechanical method (B) Trial and error method 

 ö©UPõÛUPÀ �øÓ  iøμ¯À ©ØÖ® ¤øÇ �øÓ 

(C) Bessels method (D) Two point problem 
 ¤ö\Àì �øÓ  Cμsk ¦ÒÎ �øÓ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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59. ��������� is not used in plane table survey. 
_________ ©mh¨£»øP ÷©ø\ {» AÍUøP°À E£÷¯õQ¨£vÀø». 

(A) Prismatic compass (B) Plane table 

 ¤�ì©õmiU vø\Põmi  ©mh¨£»øP ÷©ø\ 

(C) Trough compass (D) Plumb bob 
 öuõmi vø\UPõmi  ¤Í®¨£õ¨ (A) yUSU Ssk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

60. Plane table survey is 
\©uÍ £»øP \º÷Á¯õÚx  

(A) Slow  
 ö©xÁõP ö\´¯U Ti¯x 

(B) Accurate 

 xÀ¼¯©õP ö\´¯U Ti¯x 

(C) Small scale mapping  
 ]Ô¯ ÁøP ÷©¨ u¯õ�UPU Ti¯x 

(D) Less accessories 
 SøÓ¢u E£Pμn[PÒ £¯ß£kzu¨£k® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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61. ��������� horizontal axis rest on a frame which is supported on a 
heavy metal ruler. 
_________ Qøh©mh Aa]À AÍÄPÒ SÔUP¨£mh ì÷PÀ ¤÷μªÀ 
ö£õ¸zu¨£mh PÚ©õÚ E÷»õP ¹»øμ uõ[SQÓx. 

(A) Sprit level (B) Trough Compass 

 μ\ ©mh®  iμ¨ Põ®£ì 

(C) Telescopic alidade (D) �U� fork 
 öh»ì÷Põ¤U A¼÷hm  �U� ÷£õºU 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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62. Assertion [A] : The surface of the plane table board should be a
perfect plane. 

TØÖ [A]   :  Plane table £»øP°ß ÷©Ø£μ¨£õÚx \©uÍ©õP 
C¸UP ÷Ásk®.   

Reason [R]  : The board is made of well-seasoned wood, the 
board generally will not twist or wrap. 

Põμn® [R] : |ßS £u¨£kzu¨£mh ©μzuõÀ £»øP ö\´¯¨£kQÓx. 
C¢u £»øP ö£õxÁõP �ÖUP÷Áõ AÀ»x ö\¸S 
uõÍõP÷Áõ BPõx. 

(A) [A] is true but [R] is false 

 [A] \� BÚõÀ [R] uÁÖ 

(B) Both [A] and [R] are true; and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] \�; [A] US [R] BÚx \�¯õÚ ÂÍUP® BS® 

(C) [A] is false but [R] is true 

 [A] uÁÖ BÚõÀ [R] \� 

(D) Both [A] and [R] are true, but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] \�, BÚõÀ [A] US [R] BÚx \�¯õÚ ÂÍUP® AÀ»

(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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63. ��������� Road is considered intermediate between earth roads
and metalle roads 
P¸[PÀ \õø» ©ØÖ® ©s \õø»PÒ CøÁ Cøh¨£mh \õø»  

(A) Cement Concrete road (B) Gravel roads 

]ªsm Põ[Q�m \õø» QμõÁÀ \õø»

(C) Bituminous road (D) Asphalt Concrete road 
 ¤mkªÚì \õø»  Bì£õÀm Põ[Q�m \õø»  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

64. The arterial roads are classified of ��������� type of roads 
Bºi�¯À \õø»PÒ _________ ÁøP¯õÚ \õø»PÎß ÁøPø¯ \õº¢ux. 

(A) Rural Road (B) Urban Road 

 Qμõ©¨¦Ó \õø»  |Pº¨¦Ó \õø» 

(C) National highway (D) State highway 
 ÷u]¯ ö|kg\õø»  ©õ{» ö|kg\õø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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65. Sequence of surveys carried out, before finalising the alignment of
road  
\õø»°ß Aø»ßö©ßm&I �iÄ ö\´ÁuØS �ß¦ Á�ø\¨£i ö\´¯ 
÷Ási¯ \º÷ÁUPÒ 

1. Reconnaissance survey, Location survey, Preliminary survey 
 öÁÒ÷Íõmh _ØÓõ´Ä AÍøÁ, ö»õ÷Påß \º÷Á, �ßÜk AÍøÁ 
2. Reconnaissance survey, Preliminary survey, Location survey 
 öÁÒ÷Íõmh _ØÓõ´Ä AÍøÁ, �ßÜk AÍøÁ, ö»õ÷Påß \º÷Á 

3. Preliminary survey, Reconnaissance survey, Location survey 
 �ßÜk AÍøÁ, öÁÒ÷Íõmh _ØÓõ´Ä AÍøÁ, ö»õ÷Påß \º÷Á 
4.  Location survey, Preliminary survey, Reconnaissance survey 
 ö»õ÷Påß \º÷Á, �ßÜk AÍøÁ, öÁÒ÷Íõmh _ØÓõ´Ä AÍøÁ 

(A) 3 (B) 2 

(C) 1 (D) 4 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

66. Camber is provided for earth road is 
©s \õø»PÐUS _________ ÷P®£º ÁÇ[P¨£kQÓx. 

(A) 1 in 20 to 1 in 25 (B) 1 in 15 to 1 in 20 

 20À 1 �uÀ 25 CÀ 1  15À 1 �uÀ 20 CÀ 1 

(C) 1 in 5 to 1 in 10 (D) 1 in 25 to 1 in 33 
 5À 1 �uÀ 10 CÀ 1  25À 1 �uÀ 33 CÀ 1 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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67. The minimum width of carriage way for two lane in National 
Highway is 
÷u]¯ ö|kg\õø»°À Cμmøh £õøu ÁõPÚ ÁÈUPõÚ SøÓ¢u£m\
AP»® 

(A) 4.00 m (B) 6.00 m 

 4.00 «  6.00 « 

(C) 8.00 m (D) 10.00 m 
 8.00 «  10.00 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

68. The highway from Srinagar to Kanyakumari is  
ÿ|P�¼¸¢x PßÛ¯õS©�US EÒÍ ö|kg\õø» 

(A) North East Corridor (B) South West Corridor 

 ÁhUS QÇUS Cøn¨¦  öuØS ÷©ØS Cøn¨¦ 

(C) North South Corridor (D) West East Corridor 
 ÁhUS öuØS Cøn¨¦  ÷©ØS QÇUS Cøn¨¦ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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69. ��������� method of construction used instead of bituminous road 
¤mkªÚì \õø» Pmk©õÚzxUS £v»õP £¯ß£kzu¨£k® ÷ÁÖ�øÓ 

(A) Cement concrete road  
 ]ö©sm Põ[Q�m \õø» 

(B) Bituminous road 

 ¤mkªÚì \õø» 

(C) W.B.M. Road 
 Áõmhº £Äsm ö©UPh® ÷μõk  

(D) Rubberized asphalt concrete road 
μ¨£øμìk Bì£õÀm Põ[Q�m \õø»

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

70. Advantage of earth road is 
©s \õø»°ß |ßø© 

(A) Cheap in construction cost 
 Pmk©õÚ ö\»Ä SøÓÄ 

(B) Wear out quickly  
 ÂøμÁõÚ ÷u´©õÚ® 

(C) Useful for light traffic only 
 SøÓÁõÚ ÷£õUSÁμzx £¯ß£kzuÀ 

(D) Maintenance costs are high 
 £μõ©�¨¦ ö\»ÄPÒ AvP® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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71. ��������� are vertical curves having their convexity downward 
_________ ö\[Szx ÁøÍÄPÒ Eøh¯x RÌ÷|õUQ öÁÎ¨¦Ó©õP ÁøÍ¢x 
C¸US®. 

(A) Vertical Curve (B) Valley Curve 

 ö\[Szx ÁøÍÄ  £ÒÍzuõUS ÁøÍÄ 

(C) Summit Curve (D) Transition Curve 
 Ea] ÁøÍÄ  iöμßêåß ÁøÍÄ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

72. The process of laying out of the central line of the highway on the
ground is 
\õø» Aø©¨£uØS uøμ°À ø©¯¨ ¦ÒÎ°À ö\´¯¨£k® ö\¯À�øÓ  

(A) Road way (B) Reconnaissance Survey 

 \õø» £õøu  öÁÒ÷Íõmha _ØÖ \º÷Á 

(C) Preliminary survey (D) Road Alignment 
 �ßÜmk {» AÍøÁ  \õø» {μÀ£kzxuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

73. To enable free movement of traffic around an urban area 
|Pº¨£SvPÎÀ uøh°À»õ©À ÷£õUSÁμzx ö\À» �i²® \õø»  

(A) Loop road (B) By-pass road 

 QøÍ¨ £õøu \õø»  SÖUS £õøu \õø» 

(C) Ring road (D) Earth road 
 Ámh¨ £õøu \õø»  ©s £õøu \õø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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74. The portion of an urban road which is used by high speed and power 
driven vehicles is 
|Pº¨¦Ó \õø»°ß J¸ £Sv Av÷ÁP ©ØÖ® \Uv¯õÀ C¯UP¨£k® 
ÁõPÚ[PÍõÀ £¯ß£kzu¨£kÁx 

(A) Carriage way (B) Motor way 

 ÁõPÚ ÁÈ  ÷©õmhõº ÁÈ 

(C) Cause way (D) Head way 
 Põμn ÁÈ  öím ÁÈ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

75. The highest point of a cross section of highway is  
ö|kg\õø»°ß SÖUS öÁmiß ªP E¯º¢u ¦ÒÎ GÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) Camber (B) Sub-base 

 ÷P®£º  \¨&÷£ì 

(C) Carriage way (D) Crown 
 ÷P÷μä ÷Á  QμÄß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

76. Planting trees in road side can be called  
\õø»°ß C¸¦Ó�® ö\iPøÍ ÁÍº¨£uØS 

(A) Arboriculture (B) Boriculture 

(C) Sericulture (D) Derbyculture 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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77. How many surveys are to be conducted for fact finding before
formation on road? 
\õø» Aø©¨£uØS �ß¦ Esø© PshÔ²® B´ÄPÐUPõP GzuøÚ 
B´ÄPÒ |hzu¨£h ÷Ásk® 

(A) 5 (B) 6 

(C) 4 (D) 3 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

78. A road usually for a single lane, its width is kept as 
J¸ \õø»°À, ö£õxÁõP J¸ ÁÈ ����� AP»® C¸UP ÷Ásk® 

(A) 3.00 m (B) 3.25 m 

 3.00 «  3.25 « 

(C) 3.50 m (D) 3.80 m 
 3.50 «  3.80 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

79. Compounds used to seal the joints in road are known as 
Tmkö£õ¸mPøÍU öPõsk Cøn¨¦PøÍ Aøh¨£uØS 

(A) Set back (B) Seal Coat 

 ö\m÷£U  ^À÷Põm 

(C) Sealer (D) Sheet asphalt 
 Aøh¨£õß  çm Bì£õÀm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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80. Free movement of Traffic around an urban area a circumferential
road is 
|Pμ £SvPÎÀ C¸¢x uøh°À»õ©À ÷£õUSÁμzx |øhö£Ó �����
£õøu Aø©UP¨£kQÓx 

(A) Ring road (B) Loop road 

 Ámh¨£õøu  QøÍ¨£õøu 

(C) Fly over (D) By pass road 
 ÷©® £õ»®  SÖUS £õøu 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

81. The slow moving traffic road is known as 
ö©xÁõP ö\ÀÁuØS ÷£õk® \õø»  

(A) Crete way (B) Carriage way 

 Q�m÷Á  ÁÈzuh® 

(C) Foot paths (D) Frontage roads 
 |øh£õøu  �ß¦Ó \õø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

82. The top most layer of road structure is called  
\õø»°ß ÷©Ø£μ¨¦ AkUQß Aø©¨¦ 

(A) Wearing course (B) Zebra crossing 

 Â¯�[ ÷Põºì  ã¨μõ Qμõê[ 

(C) Expressway (D) Sub�base 
 Av÷ÁP ÁÈ  RÌ AkUS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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83. As per Nagpur plan the roads are classified, in India, based on 
location and function into ���������� years 
|õU§º vmhzvß £i C¢v¯õÂÀ \õø»PÒ C¸¨¤h® ©ØÖ® 

ö\¯À£õmiß Ai¨£øh°À ���������� BskPÍõP 
ÁøP¨£kzu¨£mkÒÍÚ. 

(A) 20 (B) 25 

(C) 30 (D) 35 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

84. The total length of border roads is over 
GÀø» \õø»°ß }Í® ���������� ØS ÷©À 

(A) 7961 km 

 7961 Q÷»õ«mhº  

(B) 6961 km 

 6961 Q÷»õ«mhº   

(C) 5961 km  
 5961 Q÷»õ«mhº  

(D) 6061 km 
 6061 Q÷»õ«mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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85. The surface of a good road should be ���������� to rainwater 
J¸ |À» \õø»°ß ÷©Ø£Sv, ©øÇ}øμ ����� C¸UP ÷Ásk® 

(A) Impervious (B) Pervious 

 Fk¸Á C¯»õuuõP  Fk¸ÄuõP 

(C) Absorb (D) Storage 
 EÔg_ÁuõP  ÷uUP©õP 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

86. The main advantages of GPS digital signals 
â.¤.Gì. P¸Â°À EÒÍ iâmhÀ ]UÚ¼ß �UQ¯ |ßø©PÎÀ JßÖ 

(A) Very more parameters  

 ªP AvP©õÚ £õμõ«mhº QøhUS®   

(B) Digital input signal 

 iâmhÀ EÒÏmk ]UÚÀ QøhUS®   

(C) Flexibility in response to design changes 
 ÁiÁø©¨¦ ©õØÓ[PÐUS £v»õP ÁøÍ¢x öPõkzuÀ   

(D) Digital transmission 
 iâmhÀ iμõßìªåß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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87. Advantage of digital signals is 
iâmhÀ ]UÚ¼ß |ßø© 

(A) Easy to control   
 Pmk¨£kzxÁx GÎx 

(B) Produce noise 

 \¨u® HØ£k®   

(C) High cost  
 ö\»Ä AvP® 

(D) Difficult to control 
 Pmk¨£kzxÁx PiÚ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

88. The ability of the earth�s atmosphere to permit passage of certain
wavelengths of electromagnetic waves is called 
§ª°ß ÁÎ©sh»zvß vÓß ªßPõ¢u Fk¸ÁÀPÎß SÔ¨¤mh £õøu 
}Í[PøÍ Ph¢x ö\À» AÝ©vUS® vÓß ���������� GÚ¨£kQÓx 

(A) Transparency (B) Transmissivity 

 iμõßì£μß]  iμõßìª]Âmi 

(C) Remote sensing (D) Monitor station 
 �÷©õm ö\ß][  ©õÛmhº ì÷håß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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89. Remote sensing can be defined as collecting information from a
distance by 
öuõø»{ø» EnºuÀ Gß£x öuõø»ÂÀ C¸¢x uPÁÀPøÍ ÷\P�¨£x 
GÚ Áøμ¯Ö¨£x 

(A) Photography  
 ÷£õm÷hõQμõ¤ 

(B) Geographic information system 

 â÷¯õQμõ¤U Cß£º÷©åß ]ìh®   

(C) Tachometry  
 ÷h÷Põö©m� 

(D) Photos and wavelengths 
 ÷£õm÷hõ ©ØÖ® ÷ÁÆ{ø»PÒ   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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90. Choose the correct answer. 
\�¯õÚ £vø» ÷uº¢öukP. 

Following are the advantages of GPS survey 
â.¤.Gì PnUöPk¨¤ß |ßø©PÒ ¤ßÁ¸©õÖ 

(i) Three dimensional 
 �¨£�©õn® 

(ii) Site intervisibility is needed 
 uÍ CøhöÁÎ ÷uøÁ 

(iii) Day or Night operation 
£PÀ AÀ»x CμÄ ö\¯À£õk

(A) (i) only  

 (i) ©mk® 

(B) (i) and (iii) only 

 (i) ©ØÖ® (iii) ©mk®   

(C) (i) and (ii) only  

 (i) ©ØÖ® (ii) ©mk® 

(D) (ii) and (iii) only 
 (ii) ©ØÖ® (iii) ©mk®   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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91. The principle of GPS is the measurement of distance between
���������� and ����������  
â.¤.Gì öPõÒøP Gß£x ���������� ©ØÖ® ���������� Cøh÷¯ EÒÍ 
yμzøu AÍÂkÁuõS®.  

(A) Segment and survey (B) Hours and second 

 ö\Uö©sm ©ØÖ® \º÷Á  ÷|μ® ©ØÖ® ÂÚõi 

(C) Memory and storage (D) Receiver and satellites 
 bõ£P©õUSuÀ ©ØÖ® ÷\ªzuÀ  �^Áº ©ØÖ® ÷\mhø»m 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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92. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP 

Match correctly the personal GPS tracking devices 
uÛ¨£mh â¤Gì PsPõo¨¦ \õuÚ[PøÍ \�¯õP¨ ö£õ¸zuÄ® 

(a) Trax  1. Using personal GPA tracking 
device 

 iμõUì   uÛ¨£mh â¤H PsPõo¨¦ 
\õuÚzøu¨ £¯ß£kzxuÀ 

(b) Delorme in reach SE 2. Options for people, pets and 
vehicles 

 öh÷»õº® Cß �a GìC  ©UPÒ, ö\À»¨¤μõoPÒ ©ØÖ® 
ÁõPÚ[PÐUPõÚ Â¸¨£[PÒ  

(c) Spot gen 3  3. A tiny screen and basic direction 
buttons 

 ì£õm öáß 3   J¸ ]Ô¯ vøμ ©ØÖ® Ai¨£øh vø\
ö£õzuõßPÒ 

(d) Pocket finder  4. Being highly consumer-oriented in 
the approach 

 £õUöPm Lø£shº   AqS�øÓ°À AvP ~Pº÷Áõº 
\õº¢uuõP C¸¨£x 

 (a) (b) (c) (d) 
(A) 3 4 2 1     
(B) 1 3 4 2     
(C) 4 3 1 2    
(D) 2 1 3 4    
(E) Answer not known 
  Âøh öu�¯ÂÀø» 
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93. The three segments of GPS system are the space segment, user
segment and the ���������� segment 
GPS ]ìhzvß �ßÖ ö\Uö©ßkPÎÀ, ì÷£ì ö\Uö©ßm, ³\º ö\U©ßm 
©ØÖ® ���������� ö\Uö©ßm BS® 

(A) Computer (B) Control 

 P®¨³mhº  Pßm÷μõÀ 

(C) Interface (D) Human 
 Cßhº÷£ì  î³©ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

94. In GPS location of unknown point by formation of triangle is termed
as 
GPS À öu�¯õu Chzøu �U÷Põn �øÓ°À Psk¤iUS® �øÓ 

(A) Trilateration (B) Radiation 

 møμ÷»m÷μåß  ÷μi÷¯åß 

(C) Translocation (D) Triangulation 
 iμõßìö»õU÷Påß  iøμ¯õ[S÷»åß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

95. The distance between the UTM grid lines on topographic maps is 
{»Áøμ¨£hzvÀ UTM PmhU÷PõkPÐUS (Grid Line) Cøh°À EÒÍ 
yμ® 

(A) 1000 m (B) 2000 m 

 1000 «  2000 « 

(C) 3000 m (D) 4000 m 
 3000 «  4000 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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96. The common choice of co-ordinate for specifying position is 
Kº SÔ¨¤mh {ø»US RÌPshÁØÖÒ Gx ÷Põ&Bºi÷ÚmUPõÚ ö£õxÁõÚ 
÷uºÄ? 

(A) Latitude, Departure and elevation  
 ÷»mii³m, i£õº\º ©ØÖ® G¼÷Áåß 

(B) Latitude, longitude and elevation 

 ÷»mii³m, »õ[Qi³m ©ØÖ® G¼÷Áåß   

(C) Northing, Southing and Easting  
 |õºzv[, \Äzv[ ©ØÖ® Dìmi[ 

(D) Southing, Azimuths and Elevation 
 \Äzv[, Aæ�z ©ØÖ® G¼÷Áåß   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

97. The path of an object in space follows as it circles on the earth is 
���������� Gß£x ÁõßöÁÎ°À J¸ ö£õ¸Îß £õøuø¯ ¤ß£ØÖÁx 
¦Â°ß ÷©À Ámh® ÷£õßÓuõS® 

(A) Orbit (B) Satellite 

 Bº¤m  ÷\miø»m 

(C) Receiver (D) Segment 
 �^Áº  ö\Uö©ßm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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98. GPS can be used for all of the following except 
R÷Ç öPõkUP¨£mkÒÍÁØÔÀ GPS GuØS £¯ß£hõx? 

(A) Tracking  

 PsPõo¨¦  

(B) Surveying 
 {» AÍøÁ 

(C) Direction  
 vø\¯Ô¯  

(D) For transmitting information 
 uPÁÀ AÝ¨£ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

99. Geodetic system is otherwise called  
â÷¯õöhiU ]ìh®, ©õØÓõP ����� GÚ AøÇUP¨£kQÓx 

(A) Geodetic datum (B) Satellite 

 ã÷¯õöhiU ÷hmh®  \õmiø»m 

(C) GPS (D) Navigation 
 â¤Gì  §÷PõÍ ÁÈ ö\¾zxuÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

100. How many operational satellite are available in space segment? 
ÂsöÁÎ¨ ¤�Â¾ÒÍ ö\¯À£õmkUS GzuøÚ ö\¯ØøPU ÷PõÒPÒ 
EÒÍÚ? 

(A) 24 (B) 28 

(C) 32 (D) 36 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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101. How many minimum satellites are operational in the constellation
of GPS? 
â¤Gì öuõS¨¤À GzuøÚ SøÓ¢u£m\ ö\¯ØøPU÷PõÒPÒ 
ö\¯À£kQßÓÚ? 

(A) 24 (B) 26 

(C) 28 (D) 30 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

102. GPS satellite are simply SVs � stands for  
â¤Gì ö\¯ØøPU÷PõÒ GÎø©¯õP SVs � GÚ SÔ¨£x 

(A) Space View (B) Space Vehicles 

 ì÷£ì Â²  ì÷£ì öÁQUPÒ 

(C) Speed Vehicle (D) Space Segment 
 ì¥k öÁQUPÒ  ì÷£ì ö\Uö©sm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

103. GPS stands for  
GPS ß Â�ÁõUP®  

(A) Global Prime System (B) Global Peace Summit 

(C) Global Postal System (D) Global Positioning System 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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104. Which among the following is used to locate an object? 
¤ßÁ¸ÁÚÁØÔÀ Gx J¸ ö£õ¸øÍU PshÔ¯¨ £¯ß£kQÓx? 

(A) GPS (B) GIS 

(C) RS (D) IRS 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

105. The advantage of GPS survey is  
GPS {» AÍøÁ°ß ªP �UQ¯©õÚ |ßø©¯õÚx 

(A) High Precision   

 E¯º xÀ¼¯®  

(B) Weather Dependent 
 ÁõÛø» \õº¢ux 

(C) Night Operation Only  
 CμÂÀ ©mk® £¯ß£kzu �i²®  

(D) Site Intervisibility Required 
 uÍzvß Cøh{ø» ÷uøÁ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

106. Using a single prism, short range EDM instruments can measure
upto   
SÖQ¯ Áμ®¦ EDM P¸ÂPÒ JØøÓ £mhPzøu (single prism) øÁzx 
GÆÁÍÄ yμ® Áøμ AÍUP �i²® 

(A) 1000 m  (B) 1250 m 

 1000 «  1250 « 

(C) 1300 m (D) 1350 m 
1300 «  1350 «

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



388-Draughtsman (Civil) 52

107. How much points can be store with an Internal memory of a total
station? 
÷hõmhÀ ì÷håÛß EÒ{øÚÁPzxhß GÆÁÍÄ ¦ÒÎPøÍ ÷\ªUP 
�i²®? 

(A) 90 � 1,000 points (B) 900 � 10,000 points 

 90 � 1,000 ¦ÒÎPÒ  900 � 10,000 ¦ÒÎPÒ 

(C) 9 � 100 points (D) 9,000 � 1,00,000 points 
 9 � 100 ¦ÒÎPÒ  9,000 � 1,00,000 ¦ÒÎPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

108. In total station ����� are hand held computers adopted to
survey data collection.  
÷hõmhÀ ì÷håÛÀ ���� øP°ÚõÀ ö\¯À£k® {» AÍøÁ ÷hmhõ 
÷\P�zuø» HØS® PoÛPÒ.  

(A) Field Computers  (B) Desk Top Computers 

 L¨¥Àk PoÛPÒ  öhìU hõ¨ PoÛPÒ 

(C) Lap Top Computers (D) LCD Computers 
 ©i PoÛPÒ  GÀ.].i PoÛPÒ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

109. EDM set the ����� precisely on the prism center.  
DiG®°ß ö\mh¨ø£ ���� ~m£©õP ¤�ézvß ø©¯zvÀ Aø©zuÀ.

(A) Electronic signal (B) Electronic light 

 G»UmμõÛU ]UÚÀ  G»UmμõÛU ø»m 

(C) Electronic calculator (D) Electronic watch 
 G»UmμõÛU PõÀS÷»mhº G»UmμõÛU Áõma

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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110. Typical total station can measure distance to about  
Â÷\å ÷hõmhÀ ì÷håß �»® ���� yμ[PÒ AÍUP¨£k®. 

(A) 3 mm (B) 5 mm 

 3 ª«  5 ª« 

(C) 8 mm (D) 10 mm 
 8 ª«  10 ª« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

111. The sum of interior angles of a closed polygon traverse that has
6 sides 
BÖ £UP[PøÍU öPõsh �i¯ £»÷Põn¨ £õøu°ß Em¦ÓU 
÷Põn[PÎß TmkzöuõøP  

(A) 60° (B) 120° 

(C) 360°  (D) 720° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

112. The EDM Ranging Limit upto  
EDM ß ÷μga ¼ªm GÆÁÍÄ yμ® C¸US® 

(A) 100 Km (B) 50 Km 

 100 Q.«  50 Q.« 

(C) 200 Km (D) 25 Km 
 200 Q.«  25 Q.« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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113. For using the ����������� survey equipments, surveyors are need
to be more maintenance conscious than they were in the past.  
���������� {» AÍøÁ \õuÚ[PøÍ E£÷¯õQ¨£x {» AÍøÁ¯õÍºPÒ 
Ph¢u Põ»zvÀ C¸¢uøu Âh AvP©õÚ £μõ©�¨¦ EnºÄhß C¸UP 
÷Ásk®.  

(A) Modern electronic (B) Dumpy level 

 ©õhºß G»UmμõÛU  h®¤ ö»ÁÀ 

(C) Compass (D) Plane table 
 Põ®£ì  ¤÷Íß ÷h¤Ò 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

114. ������ is distance measurement in total station.  
÷hõmhÀ ì÷håÛß ������ yμzøu AÍ¨£x.  

(A) Electronic laser (B) Chain  
 G»UmμõÛU ÷»\º   ö\°ß 

(C) Tape (D) Light  
 ÷h¨  ø»m 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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115. Choose the right matches of Total Station from the following. 
¤ßÁ¸ÁÚÁØÔÀ ÷hõmhÀ ì÷håÛß \�¯õÚ ö£õ¸zu[PøÍ 
÷uº¢öukP. 

1. Characteristics  �  Transfer of data to the computer 
 Sn[PÒ  PoÛØS uμÄ uPÁÀPøÍ ©õØÖuÀ 

2. Capabilities  � Horizontal and vertical collimation 
correction  

 vÓø©PÒ   Qøh©mh ©ØÖ® ö\[Szx Põ¼÷©åß 
v¸zu[PÒ  

3. Disadvantages  �  Working with total station is easy 
 wø©PÒ   ÷hõmhÀ ì÷håÛÀ ÷Áø» ö\´Áx _»£® 

4. Advantages  �  Gives more accurate measurements than 
other conventional surveying 
instruments  

 |ßø©PÒ  ©μ¦ ÁÈ {» AÍøÁ E£Pμn[PøÍ Âh 
ªPÄ® xÀ¼¯©õÚ AÍÄPøÍ öPõkUQÓx 

(A) (1) and (3) are correct (B) (1) and (4) are correct 

 (1) ©ØÖ® (3) \�¯õÚøÁ  (1) ©ØÖ® (4) \�¯õÚøÁ 

(C) (2) and (3) are correct (D) (2) and (4) are correct 
 (2) ©ØÖ® (3) \�¯õÚøÁ  (2) ©ØÖ® (4) \�¯õÚøÁ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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116. Choose the right matches from the following equipment inventory of
total station.  
¤ßÁ¸® ÷hõmhÀ ì÷håÛÀ E£Pμn[PÎß £mi¯¼¼¸¢x \�¯õÚ 
ö£õ¸zu[PøÍ ÷uº¢öukP.  

1. Total station set  �  Data back up device 
 ÷hõmhÀ ì÷håß ö\m   ÷hmhõ ÷£UA¨ iøÁì 

2. Prism set  �  Prism carrier 
 ¨�\® ö\m   ¨�\® ÷P�¯º  

3. Back sight set �  Prism holder 
 ÷£U ø\m ö\m   ¨�\® ÷íõÀhº  

4. Data processing  �  USB serial adaptor  

 ÷hmhõ ¨μõö\ìê[  USB ^�¯À Ahõ¨hº 

(A) (1) and (2) are correct  

 (1) ©ØÖ® (2) \�¯õÚøÁ¯õS®   

(B) (2) and (3) are correct  
 (2) ©ØÖ® (3) \�¯õÚøÁ¯õS® 

(C) (3) and (4) are correct  
 (3) ©ØÖ® (4) \�¯õÚøÁ¯õS®   

(D) (1) and (3) are correct  
 (1) ©ØÖ® (3) \�¯õÚøÁ¯õS® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   388-Draughtsman (Civil) 
  [Turn over 

57

117. Choose the right matches of total station from the following: 
¤ßÁ¸ÁÚÁØÔÀ ÷hõmhÀ ì÷håÛß \�¯õÚ ö£õ¸zu[PøÍ 
÷uº¢öukP.  

1. Angle measurements  �  At right angles (clockwise) 
 ÷Põn AÍÄPÒ   ö\[Szx ÷Põn[PÎÀ (PiPõμ® 

_Ç¾® vø\°À) 

2. Unit setting  �  Angles in degrees/min/sec. 
 ³Ûm ö\mi[   ÷Põn[PÒ iQ�PÒ/{ªh®/Â|õi

3. EDM setting  �  Select IR laser, fine measuring 
mode, use RL with caution  

 EDM ö\mi[   IR ÷»\øμ ÷uºÄ ö\´, ~so¯ 
AÍUS® ÁøP, Ga\�UøP²hß 

RL ø¯ E£÷¯õQ 

4. Atmospheric parameters  �  Set all parameters the same for 
a total station and data 
logger/PC 

 ÁÎ©sh»zvÀ £õμõ«mhºPÒ  GÀ»õ £õμõ «mhºPøÍ²® J÷μ 
©õv�¯õP ÷hõmhÀ ì÷håß 

©ØÖ® uPÁÀ »õUPº/PCUS Aø© 

(A) (1) and (2) are correct (B) (2) and (3) are correct 

 (1) ©ØÖ® (2) \�¯õÚøÁ  (2) ©ØÖ® (3) \�¯õÚøÁ 

(C) (3) and (4) are correct (D) (1) and (4) are correct 
 (3) ©ØÖ® (4) \�¯õÚøÁ  (1) ©ØÖ® (4) \�¯õÚøÁ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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118. How many kilometers measurement taken using 11 prism in long
range EDM instrument can be used? 
}sh yμ EDM P¸Â°À £vöÚõßÖ ¨�ézøu¨ £¯ß£kzv GzuøÚ 
Q÷»õ«mhº AÍÃmøh GkUP»õ®? 

(A) 15 (B) 10 

(C) 12 (D) 20 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

119. In total station measurement K = AC � (AB+BC), K represents 
÷hõmhÀ ì÷håÛÀ PnURmiÀ K = AC � (AB+BC), À K ¨�ézvÀ 
������ SÔUQÓx.  

(A) Kilometer constant (B) Kettle constant 

 {ø»¯õÚ Q÷»õ «mhº  {ø»¯õÚ öPmiÀ 

(C) Tripod constant (D) Prism constant 
 {ø»¯õÚ �UPõ¼  {ø»¯õÚ ¨�\® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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120. Match List I with List II correctly and select your answer : 

£mi¯À II £mi¯À II Ehß ö£õ¸zv \�¯õÚ Âøhø¯ ÷uº¢öuk : 
 List I   List II 
 £mi¯À I    £mi¯À II 
(a) EDM with laser generator 1. Unique levelling guidance  
 ÷»\º öáÚ÷μmh¸hß EDM  uÛzxÁ©õÚ ö»Á¼[ 

ÁÈPõmkuÀ 
(b) Endless drives   2. Upload, transfer and 

connectivity of data 
 �iÂÀ»õu iøμÆì    ÷hmhõøÁ A¨÷»õk, £�©õØÓ® 

©ØÖ® CønzxUöPõÒuÀ 
(c) Blue tooth    3. Excellent hardware features 
 ¦Ñlz    uø»]Ó¢u íõºm÷Áº A®\® 
(d) Tribrach with foot screws   4. Measuring distance  
 ¦mìS¸Ähß iøμ¤μõma     yμzøu AÍzuÀ 

 (a) (b) (c) (d) 
(A) 4 3 2 1   
(B) 1 2 3 4  
(C) 4 1 3 2 
(D) 3 4 1 2 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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121. The advantage of total station 
Total station&ß |ßø©¯õÚx 

(A) The instruments costly   

 E£Pμnzvß Âø» AvP®   

(B) Does not provide field note 
 L¥Àk ÷|õmk ÷uøÁ°Àø» 

(C) Direct observation of sum not possible   
 ÷|μi¯õP TmköuõøP PnUQh \õzv¯ªÀø»   

(D) Greater accuracy in area computation   
 ªP xÀ¼¯©õÚ £μ¨£ÍøÁ PnURk ö\´uÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

122. Choose the correct answer.  
The measurement be able to read electronically in manual total
station.  
\�¯õÚ £vø» ÷uº¢öukP. 
øP�øÓ ÷hõmhÀ ì÷håÛÀ AÍÃmøh ªßÚq �øÓ°À £iUP 
�i²®.  

(A) Horizontal angle (B) Vertical angle 

 Qøh©mh ÷Põn®  ö\[Szx ÷Põn® 

(C) Slope distance  (D) Co-ordinates  
 \õ´Ä yμ®   J¸[Qøn¨¦PÒ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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123. The following are the disadvantages of total station : 
¤ßÁ¸£øÁ ÷hõmhÀ ì÷håÛß SøÓ£õkPÍõS® : 

(i) Enormous plotting and area computation at any user  
 G¢uöÁõ¸ E£÷¯õQ¨£Á�hzv¾® AvP¨£i¯õÚ ÁøμuÀ ©ØÖ® 

£μ¨£ÍÄ PozuÀ 

(ii) Integration of database 
 uμÄz öuõSvø¯ Cøn¢x ö\¯À£k©õÖ £»ÁØøÓ JßÖ Tmk 

(iii) They should not be used for observations of the sun unless
special filters are used 

 Â÷\å©õÚ ÁiPmiPøÍ E£÷¯õQUPõ©À, AÁØøÓ `�¯Ûß 
Põm]¯ÍÃk ö\´¯ £¯ß£kzuU Thõx 

(iv) It is difficult for the surveyor to look over and check the work
while surveying 

 \º÷Á ö\´²® ÷£õx AÍøÁ¯õÍº ÷Áø»ø¯ PÁÛzxU 
öPõÒÁuØS® ©ØÖ® \�£õºUPÄ® Cx PiÚ©õP C¸US®

(A) (i) and (ii) only (B) (ii) and (iii) only 

 (i) ©ØÖ® (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(C) (iii) and (iv) only (D) (i) and (iv) only 
 (iii) ©ØÖ® (iv) ©mk®  (i) ©ØÖ® (iv) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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124. A prism should be put right on the reference point when sighting is 
possible from the   
���������� À C¸¢x £õºUP �i²® ÷£õx J¸ ¤�é® öμL¨μßì 
£õ°si[ «x \�¯õP C¸UP ÷Ásk®. 

(A) Dumpy level   

 h®¤ ö»ÁÀ 

(B) Plane table 
 ¤÷Íß ÷h¤Ò 

(C) Compass 
 Põ®£ì 

(D) Total station 
 ÷hõmhÀ ì÷håß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

125. ����� is used to center the bubble in total station.  
÷hõmhÀ ì÷håÛÀ SªÈø¯¨ ø©¯¨£kzu £¯ß£kÁx  

(A) Foot Screw (B) Tangent Screw 

 L§m ìS¸  ÷hßáßm ìS¸ 

(C) Focussing Screw (D) Damp Screw 
 L÷£õPê[ ìS¸  ÷h®¨ ìS¸ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

126. Total stations only measures ������ parameters. 
÷hõmhÀ ì÷håÛÀ ������ AÍÄ ©mk÷© AÍÂh¨£kQÓx. 

(A) 2 (B) 3 

(C) 4 (D) 5 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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127. In Total station, ������ softwares are clubbed with AutoCAD
can be used for plotting contours at any specified interval. 
÷hõmhÀ ì÷håÛÀ, ������ ö©ßö£õ¸mPøÍ Bm÷hõ÷Pm Ehß 
÷\ºzx G¢uöÁõ¸ SÔ¨¤mh CøhöÁÎ°À PõßlºPøÍ Áøμ¯ 
£¯ß£kzu �i²®. 

(A) Revit and BIM  

 �öÁm ©ØÖ® ¤®  

(B) 3D Home and Architect 
 3i ÷íõ® ©ØÖ® BºQöhUm 

(C) Auto civil and Auto plotter  
 Bm÷hõ]ÂÀ ©ØÖ® Bm÷hõ¤Íõmhº 

(D) 2D and 3D 
 2i ©ØÖ® 3i 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

128. A vehicle to overtake with safely another vehicle travelling in the
same direction 
J÷μ vø\°À ÷ÁÖ ÁõPÚzøu £õxPõ¨£õP �¢v öPõsk ö\ÀÁx 

(A) overtaking sight distance 
 KÁº÷hUQ[ Põm] yμ® 

(B) stopping sight distance 
 ìhõ¨¤[ Põm] yμ® 

(C) sight distance at intersections 
 Cßhºö\Uåß Põm] yμ® 

(D) crossing sight distance 
 SÖURk Põm] yμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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129. For providing camber in the field the templates with desired shape 
is 
¥ÀiÀ ¦Óa\�ÄPÒ Aø©UP SÔ¨¤mh ¦Óa\�Ä u¯õº ö\´¯ £»øPPÒ 
ÁiÂÀ ÁiÁø©¨£uØS  

(A) Camber boards (B) Parabolic Camber 

 ¦Óa\�Ä £»øPPÒ  £μÁøÍ¯¨ ¦Óa\�Ä 

(C) Straight Camber (D) Combined Camber 
 ÷|º¨¦Óa \�Ä  Cøn¢u ¦Óa\�Ä 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

130. As per IRC Recommendation the minimum distance for providing
warning sign is  
C¢v¯ ÷μõk Põ[Qμì (IRC)ß £�¢xøμ¨£i Põm] yμ® AÀ»x £õºøÁ 

yμ® ����������� yμzvÀ C¸US® 

(A) 1.22 feet ahead of the danger zone 
 1.22 Ai Ga\�UøP yμ® 

(B) 1.22 m ahead of the danger zone  
 1.22 «mhº Ga\�UøP yμ® 

(C) 1.22 cm ahead of the danger zone 
 1.22 ö\ßi«mhº Ga\�UøP yμ® 

(D) 1.00 m ahead of the danger zone 
 1.00 «mhº Ga\�UøP yμ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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131. How many shapes of camber commonly adopted for road surface 
\õø»°ß ÷©Ø£μ¨¤À ö£õxÁõP GzuøÚ ÷P®£�ß ÁiÁø©UP¨£kQÓx?

(A) 5 (B) 6 

(C) 4 (D) 3 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

132. In Road survey uses of combined camber 
\õø» Aø©US® \º÷Á°À £¯ß£k® Cøn¢u ¦Óa\�Ä 

(A) straight line is centre camber 
 CvÀ ÷|º¦Óa\�Ä HØ£k®  

(B) continuously camber  
 öuõhºa]¯õÚ \�ÄPÒ HØ£k® 

(C) it consists of two straight slopes with a parabolic curve in 
centre 

 £μÁøÍ¯ ¦Óa\�Ä ©ØÖ® ÷|º¨¦Ó \�Ä QøhUS® 

(D) only curve in centre 
 ÁøÍÄPÒ ©mk÷© ø©¯©õP C¸US® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

133. The other name of Super elevation is 
\õø»U Qøha\�Âß ÷ÁÖ ö£¯º GßÚ?

(A) Camber (B) Cant 

 ¦Óa\�Ä  ÷Pßm 

(C) Crown (D) Gradient 
 QμÄß  \õ´©õÚ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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134. Match List I with List II correctly and select the answer : 
£mi¯À I I £mi¯À II Ehß ö£õ¸zv \�¯õÚ Âøhø¯z ÷uº¢öuk : 
 List I  List II 
 £mi¯À I   £mi¯À II 
(a) Kerb 1. The inward transverse inclination

provided to cross section of road at the
curved position 

 öPº¨  ÁøÍÁõÚ \õø»°ß SÖUS öÁmiÀ 
EÒ£UP©õP öPõkUP¨£k® \�Ä 

(b) Camber 2. Longitudinal slope of road along its 
alignment 

 ÷P®£º  ÷μõk Aø»ßö©ßiÀ }ÍÁõUQÀ
Aø©US® \�Ä 

(c) Gradient 3. Convexity provided to the surface of
carriage way 

 Q÷μi¯ßm  ÷P÷μä ÷Á°À uÍzvÀ Aø©US® SÂ¯
Aø©¨¦ 

(d) Super elevation 4. Boundary between pavement and
shoulder 

 `¨£º G¼÷Áåß  ÷£Æö©ßmiØS®, ÷\õÀh¸US® Cøh÷¯ 
EÒÍ £Äsh� 

 (a) (b) (c) (d) 
(A) 4 3 2 1  
(B) 1 2 3 4  
(C) 4 1 2 3 
(D) 3 4 1 2 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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135. ������ is an important aspect of road geometric design. 
\õø»°À ÁiÂ¯À vmhzvß£i ������ ªP �UQ¯©õÚx. 

(A) Super elevation (B) Sight distance 

 `¨£º G¼÷Áåß  ø\m iìöhßì 

(C) Straight line camber (D) Average Gradient 
 ÷P®£º ÷|º ÷Põk  \μõ\� Q÷μi¯ßm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

136. Choose the right matches from the following : 
¤ßÁ¸ÁÚÁØÔÀ \�¯õÚ ö£õ¸zu[PøÍ ÷uº¢öukP : 

(1) Straight line Camber � consists of two straight slopes 
with a parabolic curve in the 
centre 

 ÷|º¨¦Óa\�Ä � ø©¯zvÀ £μÁøÍ ÁøÍÄhß 
Cμsk ÷|º \�ÁõP C¸US® 

(2) Combined Camber � consists of two straight slopes 
joining at the centre 

 Cøn¢u ¦Óa\�Ä  � Cμsk ÷|º\�ÄPÒ ø©¯zvÀ 
Cøn²©õÖ C¸US® 

(3) Parabolic Camber � consists of continuous curve of 
either parabolic or elliptical 
shape 

 £μÁøÍ¯¨ ¦Óa\�Ä � £μÁøÍ¯® AÀ»x }ÒÁmh ÁiÁ® 
öuõhºa]¯õÚ ÁøÍÁõP C¸US® 

(A) (1) only (B) (2) only 

 (1) ©mk®  (2) ©mk® 

(C) (3) only (D) (1) and (2) only 
 (3) ©mk®  (1) ©ØÖ® (2) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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137. Why the water drain off easily in super elevation? 
\õø» Qøha\�ÂÀ, uspº GÎuõP ÁiÁx Hß? 

(A) providing drains of the outer edge of the road 
 \õø»°ß öÁÎ¨¦Ó ÂÍ®¤À Ái}º PõÀÁõ´ Aø©¢uõÀ 

(B) providing camber to the road surface 
 \õø»°ß ÷©Ø£μ¨¤À ¦Óa\�Ä Aø©¢uõÀ  

(C) no necessity of providing drains of the outer edge of the road 
 \õø»°ß öÁÎ¨¦Ó ÂÍ®¤À Ái}º PõÀÁõ´ Aø©¯ 

÷uøÁ°Àø» 

(D) no necessity of providing camber, but proper gradient is 
provided to the road surface 

 \õø»°ß ÷©Ø£μ¨¤À ¦Óa\�Ä Aø©¯ ÷uøÁ°Àø» BÚõÀ 
JÊ[PõÚ ÷|º\�Ä Aø©¢uõÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

138. If the limiting gradient is continued for a long distance 
Áμ®¦ ÷|º \�Ä }sh yμzvØS öuõhº¢x C¸¢uõÀ 

1. It will be very convenient for the pedestrians and animals  
 Cx £õu\õ�PÒ ©ØÖ® ª¸P[PÐUS Á\v¯õP C¸US® 

2. The load carrying capacity of vehicles will be increased 
 ÁõPÚ[PÒ Gøh Gkzxa ö\À¾® AÍÄ AvP©õQ Âk® 

3. The wear and tear of vehicles using the road will increase 
 \õø»°À ÁõPÚ[PÎß £¯ß£õmhõÀ ÷u´©õÚ® AvP©õQ Âk®. 

(A) (1) only (B) (2) only 

 (1) ©mk®  (2) ©mk® 

(C) (3) only (D) (1) and (2) only 
 (3) ©mk®  (1) ©ØÖ® (2) ©mk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   388-Draughtsman (Civil) 
  [Turn over 

69

139. The carriage way and roadway can be generally called  
÷£õUSÁμzx ÁÈPÒ ©ØÖ® ÁÈz uh® Cøn¯õÚ ö\õÀ  

(A) Shoulder (B) Road margin 

 ÷åõÀhº  ÷μõk ©õºâß 

(C) Camber (D) Border 
 ¦Óa\�Ä  GÀø» \�Ä 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

140. The minimum width provided for the cycle track in urban areas is 
|Pº¨¦Ó[PÎÀ ø\UQÒ £õøu°À ÁÇ[P¨£k® SøÓ¢u£m\ AP»® GßÚ?

(A) 1.30 m (B) 2 m 

 1.30 «  2 « 

(C) 2.5 m (D) 1.85 m 
 2.5 «  1.85 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

141. ���������� is the first sight taken on a levelling staff held over a point
or known elevation. 
P¸Âø¯ ö£õ¸zv ö»ÁÀ ö\´u ¤ß SøÓUP¨£mh ö»Á¾øh¯ J¸ 
¦ÒÎ°À ìhõ¨ øÁzx GkUP¨£k® �uÀ AÍÄ 

(A) Back Sight (B.S) (B) Fore Sight (F.S) 

 ¤ß £õºøÁ  �ß £õºøÁ 

(C) Intermediate Sight (I.S) (D) Changing Point 
 Cøh £õºøÁ  ©õØÖ ¦ÒÎ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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142. The formula is used in arithmetic check in height of collimation 
method 
í°m B¨ Põ¼÷©åß �øÓ°À, GsPou \�£õº¨¤À £¯ß£kzu¨£k® 
`zvμ® 

(A) Σ  B.S + Σ  F.S = Last R.L � First R.L   

 Σ  B.S + Σ  F.S = Pøh] R.L � �uÀ R.L  

(B) Σ  B.S � Σ  F.S = Last R.L � First R.L 

 Σ  B.S � Σ  F.S = Pøh] R.L � �uÀ R.L  

(C) Σ  B.S + Σ  F.S = First R.L � Last R.L  
 Σ  B.S + Σ  F.S = �uÀ R.L � Pøh] R.L  

(D) Σ  B.S � Σ  F.S = First R.L � Last R.L 

 Σ  B.S � Σ  F.S = �uÀ R.L � Pøh] R.L 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

143. Find the height of collimation. R.L. = 100 and B.S taken from a
point is 2.750 m. 
í°m B¨ Põ¼÷©åß Psk¤i R.L. = 100  ©ØÖ® B.S J¸ ¦ÒÎ°À 

C¸¢x 2.750  « 

(A) 97.250 m (B) 100.750 m 

 97.250 «  100.750 « 

(C) 102.750 m (D) 99.250 m 
 102.750 «  99.250 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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144. The consecutive readings taken during a levelling operation are as
follows. 0.685, 1.315, �1.825, �0.635, 1.205, 1.235. The instrument 
was shifted after third reading the Bench mark of third reading is
100.000 m. Then the R.L of first reading is  
J¸ Levelling Operation�À RÌPshÁõÖ öuõhºa]¯õÚ AÍÄPÒ 

GkUP¨£kQßÓÚ. 0.685, 1.315, �1.825, �0.635, 1.205, 1.235. CvÀ 

Instrument - BÚx �ßÓõÁx AÍÂß ÷£õx ©õØÓ¨£kQÓx. �ßÓõÁx 

AÍÂß Bench mark - BÚx 100.000 m GÛÀ �uÀ AÍÂß Reduce 
level BÚx 

(A) 97.490 (B) 101.140 

(C) 102.510 (D) 98.860 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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145. Match the following  : 
(a) The connect the finishing 1. Simple levelling  
 point with starting point  
 on that particular day 
 J¸ SÔ¨¤mh |õÎß öuõhUP¨  ]®¤Ò ö»Á¼[  
 ¦ÒÎ²hß CÖv¨ ¦ÒÎø¯  
 CønUP  

(b) The level is set up at several 2. Fly levelling 
 suitable position      
 ö»ÁÀ, £» ö£õ¸zu©õÚ {ø»°À  L¤øÍ ö»Á¼[  
 Aø©UP¨£mkÒÍx 
(c) To connect the Bench mark to 3. Differential levelling 
 any intermediate point of the  
 alignment for checking the  
 accuracy of work  
 ÷Áø»°ß xÀ¼¯zøu   i£μßæ¯À ö»Á¼[ 
 \�£õº¨£uØPõP ^μø©¨¤ß G¢u  
 Cøh{ø» ¦ÒÎ²hß ö£ga  
 ©õºU�ø¯ CønUP   
(d) By setting the levelling  4. Check levelling  
 instrument midway between  
 the points 
 ¦ÒÎPÐUS Cøh°À   ö\U ö»Á¼[  
 ö»Á¼[ P¸Âø¯ Aø©¨£uß   
 �»®

 (a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 4 3 2 1     
(C) 3 4 1 2    
(D) 1 2 3 4    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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146. The sequence of operations to take level with a levelling instrument.
J¸ ö»Á¼[ Cßìm¸ö©ßm öPõsk ö»ÁÀ GkUS® ÷£õx ö\´¯
÷Ási¯øÁPøÍ \�¯õP Á�ø\¨£kzx 

1. Fixing, Levelling, Focussing , Reading  
 ö£õ¸zxuÀ, ©mh¨£kzuÀ, SÂ¯¨£kzuÀ, AÍöÁkzuÀ 
2. Levelling, Fixing, Reading, Focussing 
 ©mh¨£kzuÀ, ö£õ¸zxuÀ, AÍöÁkzuÀ, SÂ¯¨£kzuÀ 
3. Fixing, Focussing, Levelling, Reading 
 ö£õ¸zxuÀ, SÂ¯¨£kzuÀ, ©mh¨£kzuÀ, AÍöÁkzuÀ 
4. Levelling, Reading, Fixing, Focussing 
 ©mh¨£kzuÀ, AÍöÁkzuÀ, ö£õ¸zxuÀ, SÂ¯¨£kzxuÀ 

(A) 3 (B) 4 

(C) 2 (D) 1 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

147. Finding out the relative heights and elevations of points 
¦ÒÎPÎß öuõhº¦øh¯ E¯μ[PÒ ©ØÖ® G¼÷Á\ßPøÍ PshÔuÀ 

(A) Chaining 
 ö\°Û[  

(B) Levelling 
 ö»Á¼[  

(C) Tilting  
 iÀi[  

(D) Focussing 
 L÷£õPê[  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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148. The line of Collimation should be  
Põ¼÷©åß ÷Põk GÆÁõÖ C¸UP ÷Ásk® 

(A) Inclined (B) Vertical 

 \õ´Ä ÷Põk  ö\[Szx ÷Põk 

(C) Horizontal (D) Perpendicular 90° 
 Qøh©mh ÷Põk  90°US \©©õÚ ÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø»

149. In level survey change point means 
ö»Á¼[ \º÷Á°À Ch©õÖ® ¦ÒÎ Gß£x 

(i) The point both I.S. and B.S. same operation 
 Cøh £õºøÁ ©ØÖ® �ß £õºøÁ JßÓõP £õº¨£x  

(ii) The point both F.S. and C.S. same operation 
 �ß £õºøÁ ©ØÖ® SÖUS £õºøÁ JßÓõP £õº¨£x 

(iii) The point both the F.S. and B.S. are taken during the 
operation 

 �ß £õºøÁ ©ØÖ® AkzxÒÍ ¤ß £õºøÁø¯ JßÓõP £õº¨£x 

(iv) The point both last RL and first RL 
 Pøh] SøÓUP¨£mh ö»ÁÀ ©ØÖ® �u¼À SøÓUP¨£mh ö»ÁÀ 

JßÓõP £õº¨£x 

(A) (iv) (B) (i) 

(C) (iii) (D) (ii) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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150. ������ column is used, the first entry in the level book pages. 
ö»ÁÀ ¦zuP £UPzvÀ �uÀ £vÂØS ������ ö|kÁ�ø\
£¯ß£kQÓx. 

(A) Fore sight (B) Back sight
 �ß £õºøÁ  ¤ß £õºøÁ 

(C) Intermediate sight (D) Height of instrument 
 Cøh¨£õºøÁ  P¸Â°ß E¯μ® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

151. A line lying in a level surface and normal to the plumb line at all
points is 
AøÚzx ¦ÒÎPÎ¾® ö»ÁÀ ÷©Ø£μ¨¦ ©ØÖ® ¤Í®¨ ÷PõmiØS 
C¯À£õÚ J¸ ÷Põk 

(A) Horizontal line  

 Qøh©mh ÷Põk 

(B) Vertical line 
 ö\[Szx ÷Põk 

(C) Level line  
 ö»ÁÀ ÷Põk 

(D) Tangent line 
 öuõk ÷Põk 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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152. ����������� types of levelling is adopted for the purpose checking a 
series of level previously fixed. 
_________ ÁøPPÒ �ß¦ {ºn°UP¨£mh {ø»PÎß Á�ø\ø¯ \�£õºUS® 
÷|õUPzvØPõP HØÖU öPõÒÍ¨£kQÓx. 

(A) Cross section levelling (B) Check levelling 

 Qμõì ö\Uåß ö»Á¼[  ö\U ö»Á¼[ 

(C) Direct levelling (D) Profile levelling 
 ÷|μi ö»Á¼[  L¨÷μõø£À ö»Á¼[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

153. ����������� method is fast, simple and has simple calculation. 
_________ �øÓ°À Av÷ÁP©õÚx, _»£©õÚx ©ØÖ® GÎ¯ �øÓ°À 
PnURk ö\´¯ �i²®. 

(A) Collimation method (B) Rise and falls method 

 Põ¼÷©åß �øÓ  øμì ©ØÖ® £õÀì �øÓ 

(C) Arithmetic check (D) Reduction level 
 A�zö©iU �øÓ  SøÓ¨¦ {ø» 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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154. In a simple levelling the back sight taken from A point A of R.L.
100.000 is 2.850 m and fore sight taken from point C is 0.520 m. 
Find R.L. at point C 
\õuõμn ©mh AÍÂÀ (simple levelling) A&¦ÒÎ°À GkUP¨£mh ¤ß 

£õºøÁ°ß (B.S) AÍÄ 2.850 «. Auß SøÓUP¨£mh ö»ÁÀ 100.000 
©ØÖ® C ¦ÒÎ°À GkUP¨£mh �ßÚõÀ £õºøÁ (FS) 0.520 « GÛÀ, 

C ¦ÒÎ°ß SøÓUP¨£mh ö»Á¼ß ©v¨¦? 

(A) 103.370 m (B) 102.330 m 

 103.370 «  102.330 « 

(C) 103.330 m (D) 102.370 m 
 103.330 «  102.370 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

155. The first staff reading after the level has been moved to a new
position is 
¦v¯ ChzvØS ©õØÓ¨£mh ¤ß GkUP¨£k® �uÀ AÍÂß ö£¯º

(A) Foresight (B) Intermediate sight 

 ÷£õº ø\m  Cßhº«i÷¯m ø\m 

(C) Back sight (D) Change sight 
 ÷£U ø\m  ©õÖ® ¦ÒÎ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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156. The smallest graduated division in levelling staff 
ö»Á¼[ ìhõL¨&À SÔUP¨£mh ]Ô¯ ¤�Ä 

(A) 0.0005 m (B) 0.005 m 

 0.0005 «  0.005 « 

(C) 0.05 m (D) 0.5 m 
 0.05 «  0.5 « 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

157. ����������� instrument used for high precision levelling work. 
_________ E£Pμnzøu £¯ß£kzv ªP xÀ¼¯©õÚ ö»Á¼[ ö\´¯»õ®. 

(A) Tilting (B) Dumpy 

 Tilting (iÀi[)  Dumpy (h®¤) 

(C) Wye (D) Auto 
 Wye (J´C)  Auto (Bm÷hõ) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

158. The horizontal angle which a line makes with this meridian is called
Põ¢u F] Põmk® vø\°À C¸¢x G¢u J¸ \º÷Á ÷PõmiØS® 
GkUP¨£k® Qøh©mh ÷Põn® 

(A) True meridian (B) True bearing 

 mk¹ ö©�i¯ß  mk¹ ÷£�[ 

(C) Magnetic meridian (D) Magnetic bearing 
 ÷©UÚiU ö©�i¯ß  ÷©UÚiU ÷£�[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 



   388-Draughtsman (Civil) 
  [Turn over 

79

159. The angles of dip at the poles and the equator respectively are 
§ª°ß x¸Ázv¾®, §©zv¯ ÷μøP°¾®, Põ¢u F]°ß \�Ä GßÚÁõP 
C¸US®? 

(A) 30°, 60° (B) 0°, 90° 

(C) 45°, 90° (D) 90°, 0° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

160. The angle of a line measured with reference to the true meridian is
called 
Esø©¯õÚ ö©�i¯ß Ehß J¸ ÷Põmiß AÍÂh¨£mh ÷Põn®  

(A) Magnetic bearing (B) True bearing 

 Põ¢u¦» ÷£�[  Esø©¯õÚ ÷£�[ 

(C) Attraction (D) Azimuth 
 AmμõUåß  Aâ�z 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

161. The horizontal angle which the magnetic meridian makes with true
meridian is known as 
÷©UÚiU ö©�i¯ß BÚx m¹ ö©�i¯Ýhß E¸ÁõUS® Qøh©mhU 
÷Põn® GÆÁõÖ AÔ¯¨£kQÓx? 

(A) Bearing (B) Variation 

 ÷£�[  ÷Á�÷¯åß 

(C) Dip (D) Declination 
 i¨  öhUÎ÷Úåß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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162. The latitude is negative when measured southward and is termed as
Am\÷μøP öuØS ÷|õUQ AÍÂh¨£k® ÷£õx Gvº©øÓ¯õP EÒÍx 
_________ GÚ ö£¯�h¨£kQÓx. 

(A) Northing (B) Easting 

 ÁhUS ¦Ó©õP  QÇUS ¦Ó©õP 

(C) Southing (D) Westing 
 öuØS ¦Ó©õP  ÷©ØS ¦Ó©õP 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

163. In compass traverse survey to closing error ������ rule 
rectified. 
Põ®£ì iμõÁº \º÷Á°ß �iÄÖ ¤øÇPÒ ������ Âvø¯ 
£¯ß£kzv \� ö\´¯»õ®. 

(A) Bowditch�s rule (B) Traverse rule 

 ö£Íim] Âv  iμõÁºì Âv 

(C) Bessel rule (D) Mechanical rule 
 £\Àì Âv  C¯¢vμÂ¯À Âv 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

164. Convert whole circle bearing of 210°30′ into reduced bearing. 
210°30′ ÷íõÀ \ºUQÒ ¤¯�[øP ÷μi³ìk ¤¯�[PõP ©õØÓÄ®? 

(A) S 30°30′ E (B) S 30°30′ W 

 öu 30°30′ Q  öu 30°30′ ÷© 

(C) N 30°30′ E (D) N 30°30′ W 
 Á 30°30′ Q Á 30°30′ ÷©

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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165. The sum of interior angle of pentagon is 
J¸ I[÷Põnzvß EÒ÷Põn[PÎß Tmkz öuõøP¯õÚx 

(A) 450° (B) 540° 

(C) 360° (D) 180° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

166. The horizontal angle for a given two meridians in clockwise and anti
clockwise directions quadrants of a circle is known as   
J¸ Ámhzvß PiPõμ® vø\°¾® ©ØÖ® Gvº PiPõμ® vø\°¾® 
öPõkUP¨£mh Cμsk ö©�i¯ßPÐUPõÚ Qøh©mh ÷Põn® ����������
GÚ AøÇUP¨£kQÓx. 

(A) Reduced bearing (B) Whole circle bearing 
 SøÓUP¨£mh ÷£�[  �ÊÁmh ÷£�[ 

(C) Fore bearing  (D) Back bearing 
 �ß ÷£�[  ¤ß ÷£�[ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

167. Find the back bearing of AB if fore bearing of AB = 63°30′ 
AB = 63°30′ L÷£õº ¤¯�[¯õP C¸¢uõÀ AB�ß ÷£U ¤¯�[&ø¯ 
PshÔ¯Ä®. 

(A) 115°30′ (B) 116°30′ 

(C) 242°30′ (D) 243°30′ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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168. Match the following type  : 
¤ßÁ¸® ÁøPø¯¨ ö£õ¸zxP : 
(a) 60°20′ 1. S 35°45′ W 
(b) 160°30′ 2. N 50° W 
(c) 215°45′ 3. S 19°30′ E 
(d) 310°00′ 4. N 60°20′ E 

 (a) (b) (c) (d) 
(A) 1 4 2 3    
(B) 2 1 3 4      
(C) 4 3 1 2    
(D) 3 2 4 1    
(E) Answer not known 
 Âøh öu�¯ÂÀø» 

169. The magnetic bearing of a line is 48°24′ calculate the true bearing, If 
the magnetic declination is 5°38′ E. 
÷Põmiß ÷©UÚiU ¤¯�[ 48° (iQ�) 24′ (ªÛm) ©ØÖ® Põ¢u ¦» ÃÌa] 

5° (iQ�) 38′ (ªÛm) QÇUS GÛÀ Auß Esø©¯õÚ ¤¯�[ PõsP. 

(A) 58°28′ (B) 64°45′ 

(C) 54°02′ (D) 63°48′ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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170. Name of the error that the fittings of table and tripod being loose 
¤÷Íß ÷h¤Ò ©ØÖ® i�£õmøh (tripod) uÍºzv¯õP ö£õ¸zv°¸¢uõÀ 
HØ£k® ¤øÇ°ß ö£¯º 

(A) Errors of instrument  
 P¸Â°ÚõÀ HØ£k® ¤øÇPÒ 

(B) Errors of plotting 

 ¤Íõmi[QÚõÀ HØ£k® ¤øÇPÒ 

(C) Errors of sighting  
 £õº¨£vÚõÀ HØ£k® ¤øÇPÒ 

(D) Errors of manipulation 
 øP¯õÐÁuõÀ HØ£k® ¤øÇPÒ   

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

171. The reduced bearing of a line is N 87°W. Its whole circle bearing is  
J¸ ÷Põmiß Á 87° ÷© ß SøÓUP¨£mh ©v¨¦ �Ê Ámh ÷£�[ BP 

©õÔÚõÀ ������  ©v¨¦ QøhUS®. 

(A) 3° (B) 87° 

(C) 93° (D) 273° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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172. The compass with the graduations are marked as south with 0° and 
north with 180°  
AÍÄPÐhß Ti¯ Põ®£ì öuØS 0° GÚÄ®, ÁhUS 180° GÚÄ® 
SÔUP¨£mkÒÍx. 

(A) Trough compass (B) Surveyors compass 

 iμõL¨ Põ®£ì  \º÷Á¯ºì Põ®£ì 

(C) Prismatic compass (D) Magnetic compass 
 ¨�ì©õiU Põ®£ì  ÷©UÚiU Põ®£ì 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

173. In which of the following compass graduated card is attached to the
box and not to the ring  
¤ßÁ¸® G¢u Põ®£ì Qμõáú÷Áhm Põºkhß ©ØÖ® ÁøÍ¯zxhß 
CønUP¨£mkÒÍx. 

(A) Prismatic compass (B) Surveyor�s compass 

 ¤�ì©õiU Põ®£ì  \º÷Á¯º Põ®£ì 

(C) Theodolite survey (D) Traverse compass 
 v÷¯õ÷hõø»m \º÷Á  mμÁºì Põ®£ì 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

174. ������ is required to measure the direction of the magnetic 
meridian. 
������ ö©UÚiU ö©�i¯Ûß vø\ø¯ AÍÂh ÷uøÁ¯õÚ P¸Â. 

(A) Chain (B) Compass 

 ö\°ß (A) \[Q¼  Põ®£ì 

(C) Plumb BOB (D) Spirit level 
 yUS Ssk  ì¤�m ö»ÁÀ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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175. Needle in the compass is made of  
Põ®£ì £õUêÀ EÒÍ F] ������ BÚx 

(A) Iron (B) Brass 

 C¸®¦  ¤zuøÍ 

(C) Copper (D) Magnetic 
 Põ¨£º  Põ¢u®

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

176. The fore bearing of a survey line with back bearing 210° is 
J¸ AÍÂ¯À ÷Põmiß ¤ßvø\U ÷Põn® 210° GÛÀ Auß �ßvø\U 
÷Põn® Gß£x 

(A) 20° (B) 30° 

(C) 40° (D) 50° 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

177. The system of measuring bearings from 0° to 360° from the direction 
of north is called ������ system. 
÷£�[ AÍÂk® �øÓ°À ÁhUS vø\°¼¸¢x 0° �uÀ 360° Áøμ 
C¸US® ÷£�[ ����� GßÖ AøÇUP¨£kQÓx. 

(A) Whole circle bearing (B) Quadrantal bearing 

 �Ê Ámh ÷£�[  PõÀ Ámh ÷£�[ 

(C) Reduced bearing (D) Both (A) and (B) 
 SøÓUP¨£mh ÷£�[  (A) ©ØÖ® (B) Cμsk® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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178. Metric chains are generally available in  
ö©m�U \[Q¼ ö£õxÁõP QøhUPTi¯ AÍÄ  

(A) 15 m (B) 120 m 

 15 «mhº  120 «mhº 

(C) 20 m (D) 25 m 
 20 «mhº  25 «mhº 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

179. Name the device which is used for marking the ends of chain while
measuring along sloping ground 
\õ´ÁõÚ {»zvÀ AÍÂk® ÷£õx ö\°Ûß �øÚPøÍ ÷|μõP øÁzx 
öPõÒÍ £¯ß£kzx® P¸Â  

(A) Ranging rod (B) Tape 

 ÷μg][ μõk  ÷h¨ 

(C) Plumb bob (D) Cross-staff 
 yUS Ssk  Qμõì ìhõ¨ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

180. A line normal to the plumb line at all points is called 
AøÚzx¨ ¦ÒÎPÎ¾® ¤Í®¨ ø»ÝUS C¯À£õÚ ÷Põk 
AøÇUP¨£kÁx 

(A) Vertical line (B) Level line 

 öÁºiPÀ ø»ß  ö»ÁÀ ø»ß 

(C) Horizontal line (D) Vertical plane 
 Qøh©mhU ÷Põk  öÁºiPÀ ¤öÍ°ß 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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181. One furlong is equal to ������ chain. 
J¸ £º»õ[ ����� \[Q¼US \©®. 

(A) 1 (B) 10 

(C) 66 (D) 80 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

182. How many links in 30 m metric chain? 
30 « ö©m�U \[Q¼°À GzuøÚ ¼[ì EÒÍÚ? 

(A) 100 (B) 150 

(C) 180 (D) 200 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

183. Name of error that occur due to faulty adjustment of devices such as 
chain may be too long or too short 
ö\°ß ªP }Í©õPÄ® AÀ»x ªPU SÖQ¯uõPÄ® {PÌÂß ÷£õx uÁÓõÚ 
P¸Â \�ö\´uÀ Põμn©õP HØ£k® ¤øÇ°ß ö£¯º GßÚ? 

(A) Natural error (B) Instrumental error 

 C¯ØøP¯õÚ ¤øÇ  P¸Â°¾ÒÍ ¤øÇ 

(C) Personal error (D) Artificial error 
 uÛ |£μõÀ HØ£k® ¤øÇ  ö\¯ØøP¯õÚ ¤øÇ 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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184. As per IS specification every metre length of chain should be
accurate to 
C¢v¯ uμ Pmk¨£õmk ìö£]¤÷Påß £i (IS) ö\°ÛÀ JÆöÁõ¸ «mhº 
}Í�® GÆÁÍÄ xÀ¼¯©õP C¸UP ÷Ásk®? 

(A) + 2 mm (B) ± 5 mm 

(C) ± 2 mm (D) � 2 mm 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

185. Match the following 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zxP 

(a) Metric chain 1. 100 feet long, each link is 1 foot long 
 ö©m�U ö\°ß  100 Ai }Í®, JÆöÁõ¸ Cøn¨¦® (¼[) 

1 Ai }Í® 

(b) Gunder�s chain 2. 33 feet long, each link is 2 16
1  feet long 

 Pßhºì ö\°ß  33 Ai }Í® JÆöÁõ¸ ¼[S® 2 16
1 Ai 

}Í® 
(c) Revenue chain 3. 66 feet long, each link is 0.66 feet long 
 öμÁß³ ö\°ß  66 Ai }Í® JÆöÁõ¸ ¼[S® 0.66 Ai 

}Í® 
(d) Engineer�s chain 4. 20 m and 30 m long, each link is 20 cm 

long 
 CßâÛ¯ºì ö\°ß  20 « ©ØÖ® 30 « }Í® JÆöÁõ¸ ¼[S® 

20 ö\« }Í® 

 (a) (b) (c) (d) 
(A) 2 1 4 3 
(B) 3 2 4 1  
(C) 1 4 2 3 
(D) 4 3 2 1 
(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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186. The process of measuring distances with chain is called 
\[Q¼U öPõsk yμ[PøÍ AÍUS® �øÓ ����� GÚ 
AøÇUP¨£kQÓx. 

(A) Chain survey (B) Compass survey 

 \[Q¼ {»AÍUøP  vø\UPõmi PnUöPk¨¦ 

(C) Traverse (D) Plane-table survey 
 PhUS® �øÓ  \©uÍ {»AÍUøP 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

187. Size of arrow used in chain survey 
ö\°ß \º÷Á°À £¯ß£kzu¨£k® B÷μõ (Arrow) Âß AÍÄ 

(A) 3 mm dia 40 cm long (B) 4 mm dia 40 cm long 

 3 ª« Âmh® 40 ö\« }Í®  4 ª« Âmh® 40 ö\« }Í® 

(C) 5 mm dia 40 cm long (D) 6 mm dia 40 cm long 
 5 ª« Âmh® 40 ö\« }Í®  6 ª« Âmh® 40 ö\« }Í® 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

188. How many Brass Tallies are in one metric chain? 
J¸ ö©m�U ö\°ÛÀ EÒÍ ¤zuøÍ ÷h¼ì GsoUøP  

(A) 30 (B) 6 

(C) 5 (D) 2  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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189. Direct ranging is possible only when the end stations are 
CÖv {ø»¯[PÒ ���������� ÷|μi¯õP C¸¢uõÀ ©mk® JÊ[S£kzuÀ 
C¯¾®. 

(A) Close to each other  

 JßÖUöPõßÖ ö|¸UP©õP   

(B) Long Distance  
 }sh yμ® 

(C) Mutually intervisible   
 £μì£μ® EÒÎøh £õºøÁ   

(D) Located at highest points 
 PhÀ ©mhzvÀ AvP£m\ E¯μ¦ÒÎ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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190. The below hand signal are used to which direction survey assistant
move the position  
\º÷Á EuÂ¯õÍº G¢u vø\°À GÆÁõÖ |Pμ RÊÒÍ øP \ªUøb 
£¯ß£kzu¨£kQÓx. 

 

(A) Move continuously to the right or left   

 Á»x AÀ»x ChuõP öuõhºa]¯õP |PμÄ®   

(B) Move hands are down  
 øPPøÍ R÷Ç CÓUPÄ® 

(C) Slowly right  
 Á»x £UP® ö©xÁõP ö\À   

(D) Move slowly to the right (or) left   
 ö©xÁõP Á»x AÀ»x Chx £UP® |PºzuÄ®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

191. A conventional signs and colours building (PUCCA) choose suitable
colour  
J¸ ÁÇUP©õÚ Aøh¯õÍ[PÒ ©ØÖ® Ásn[PÎÀ Pmih® (£UPõ) 
Gß£uØS E�¯ Ásnzøu ÷uº¢öuk 

(A) Crimson Lake (B) Burnt Umber  
 Q�®\ß ÷»U  £ºßm E®£º 

(C) Building Crimson (D) Black  
 ¤Ài[ Q�®\ß  P¸¨¦  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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192. In a survey chain, a link may have length of ___________ cm. 
J¸ \º÷Á \[Q¼°À J¸ Cøn¨¦ (link)  }Í® GÆÁÍÄ (ö\.«). 

(A) 20 or 30 cm (B) 1 or 2 cm 

 20 AÀ»x 30 ö\.«  1 AÀ»x 2 ö\.« 

(C) 5 or 10 cm (D) 2 or 3 cm 
 5 AÀ»x 10 ö\.«  2 AÀ»x 3 ö\.« 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

193. The fundamental principle of surveying is to work from  
\º÷Á ÷Áø»°ß Ai¨£øh¯õÚ öPõÒøP  

(A) Part to whole  

 £Sv°¼¸¢x �Êø©¯õP   

(B) Higher level to lower level   
 E¯º¢u ©mhzv¼¸¢x uõÌ¢u ©mh® 

(C) Whole to part  
 �Êø©°¼¸¢x £Sv¯õP   

(D) Higher level 
 E¯º¢u ©mhzv¼¸¢x 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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194. The ___________ is the direction in which the magnetic needle points
which is not affected by local attraction left to its own device.  
���������� ußÛaø\¯õP Âh¨£mh ÷»õUPÀ AmμõU\ÚõÀ £õvUP¨£hõu 
Põ¢u F] ¦ÒÎ Auß \õuÚzøu Âmka ö\À¾® vø\. 

(A) True Meridian (B) Magnetic Meridian 

 m¸ ö©�i¯ß  ö©UÚiU ö©�i¯ß 

(C) Arbitrary Bearing (D) Spirit Level  
 Bº¤mh� ö©�i¯ß  ì¤�m ö»ÁÀ  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

195. Plane surveying is  
¤øÍß \º÷Á°[ Gß£x 

(A) Curvature of earth is taken into account  

 §ª°ß ÁøÍøÁ PnUQÀ GkzxU öPõÒÁx   

(B) Curvature of earth is not taken into account  
 §ª°ß ÁøÍøÁ PnUQÀ GkzxU öPõÒÁvÀø» 

(C) Comparatively large  
 AvP©õÚ £μ¨£ÍÄ   

(D) More accuracy   
 ªPÄ® xÀ¼¯©õÚx 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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196. Planimeter is used for measuring   
¤ÍõÛ«mhº P¸Â¯õÚx ����������AÍøÁ AÍUP¨£¯ß£kQÓx. 

(A) Volume (B) Area 

 öPõÒÍÍÄ  £μ¨£ÍÄ 

(C) Contour gradient (D) Slope angle  
 Põßlº Q÷μi[  \�Ä ÷Põn®  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

197. The person holding the rear handle of the chain  
ö\°Ûß ¤ß øP¤iø¯ ¤izxU öPõsk ö\À£Áº 

(A) Follower (B) Leader 

 £õ÷»õÁº  ½hº 

(C) Tracker (D) Controller  
 iμõUPº  Pßm÷μõ»º  

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

198. Earth surface is assumed as plane and the corrective of the earth is
original is known as  
§ª°ß ÷©Ø£μ¨ø£ \©uÍ©õP P¸v AÍÂh¨£k® {» AÍøÁ  

(A) Geodetic survey (B) Plane survey 

 â÷¯õiiU \º÷Á  ¤÷Íß \º÷Á 

(C) Land survey (D) Topographical survey 
 {» AÍÂ¯À  ÷hõ¨÷£õQμõL¨¤PÀ \º÷Á 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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199. How many links are in a 20 m metric chain?  
20 «mhº ö©m�U ö\°ÛÀ GzuøÚ ¼[Uì C¸US® 

(A) 20 links  (B) 100 links 

 20 ¼[Uì  100 ¼[Uì 

(C) 150 links (D) 30 links 
 150 ¼[Uì  30 ¼[Uì 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 

200. ___________ is used to make the ends of each chain during the
process of chaining.  
___________ Gß£x \[Q¼ E¸ÁõUS® ö\¯¼ß÷£õx JÆöÁõ¸ 
\[Q¼°ß �iÄPøÍ E¸ÁõUP £¯ß£kzu¨£kQÓx. 

(A) Ranging rod (B) Arrows 

 ÷μßâ[ μõm  B÷μõì 

(C) Field book (D) Tally  
 PÍ¨ ¦zuP®  ÷h¼ (Tally) 

(E) Answer not known 
 Âøh öu�¯ÂÀø» 
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